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Correct Marks : 1 Wrong Marks : 0.33

The Indian Constitution was adopted on 26th January 1950. Originally, how many schedules did it
contain?

Options :

1. ¥ 8 Schedules
2. % 12 Schedules
3. % 7 Schedules
4. % 9 Schedules

Question Number : 1 Question Id : 441009126625 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ 8 PO

2. % 12 280050

3. % 7088005000

4. % 9 0ersSen

Question Number : 2 Question Id : 441009126641 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following does NOT describe the nature of the Indian Constitution?
Options :

1. ¢ Total Unitary System

2. ® Directive Principles

3. ¥ Universal Adult Franchise

4. % Secularism

Question Number : 2 Question Id : 441009126641 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ S30S0 DEEYed 555

2. % 33338 Qv (@Pew

3. % e 58 2,0 2B (O0TSENO 93D |03

4. % 3885750

Question Number : 3 Question Id : 441009126689 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



India's Constitution maintains a balance between unitary and federal features. However, under which of
the following conditions can the Union Government assume full executive and legislative control over
the entire nation?

Options :

1. # When President's Rule is imposed in any state

2. % When an emergency is declared in any part of the country

3. ® When the President exercises ordinance-making power under Article 123

4. ¥ When martial law is enforced under Article 34 in any state

Question Number : 3 Question Id : 441009126689 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 4 Question Id : 441009126706 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Indian Constitution is the longest written constitution in the world. Which of the following factors do
not contribute to its large size?

Options :

1. # India's vast geographical expanse and diversity

2. # Influence of the bulky Government of India Act, 1935

3. # A single Constitution governing both the Centre and the States

4. ¥ Adoption of the American model of governance

Question Number : 4 Question Id : 441009126706 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2S¢ Toe3 5080 (DND0TI0S' S €983 A5 ODed Te350150. (80 ¢3S & LoFeN T
28 HOITEFDE BP0 FAY?

Options :

1. % 23880 DTS T HDE DGO HOAN B0

2. % 1935 230365 (D205 ¢TI0 B3NE) 28 (D2rH0

3. % 30(&, U7 (20E se0 BOROEID JONO(SB0T 2,3 T°e50%0
4. ¢ 9RDOES O S0 R 588030



Question Number : S Question Id : 441009126939 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is Not key features of the parliamentary system of government in India?
Options :

1. % Presence of nominal and real executives

2. ¥ Election of whole Parliament after 5 years

3. ® Collective responsibility of the executive to the legislature

4. ¥ Membership of ministers in the legislature

Question Number : 5 Question Id : 441009126939 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 6 Question Id : 441009126978 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Universal adult franchise is an important feature of the Indian Constitution. Which of the following
statements about this feature is correct?

Options :

1. # Every citizen above 18 years of age can vote in elections from the day the Constitution came into
effect

2. % Voting age is different for different elections.
3. % There is a change in voting age ones in the past.

4. % Voting rights in India are granted based on literacy and economic status.

Question Number : 6 Question Id : 441009126978 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 7 Question Id : 441009126999 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Directive Principles of State Policy (DPSP) include a principle inspired by Mahatma Gandhi’s
vision, directing the state to promote cottage industries in rural areas. Which article reflects this idea,
emphasizing self-reliance at the village level?

Options :

1. # Article 40
2. ¥ Article 43
3. % Article 47
4. % Article 48

Question Number : 7 Question Id : 441009126999 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ 088890 40

2. ¥ 9HEB0 43

3. % 0088200 47

4, % 9580 48

Question Number : 8 Question Id : 441009127018 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which article instructs the state to safeguard forests and wildlife, a concern that predates modern
environmental laws?

Options :

1. % Article 39
2. % Article 44
3. % Article 50
4. ¥ Article 48A

Question Number : 8 Question Id : 441009127018 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ 88890 39
2. % 08860 44
3. % @880 50
4. v @9OEB0 48A

Question Number : 9 Question Id : 441009127028 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which Directive Principle of State Policy (DPSP) deals with public assistance in cases of
unemployment?

Options :

1. ¥ Article 41
2. % Article 38
3. % Article 39
4. % Article 43

Question Number : 9 Question Id : 441009127028 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ @880 41

2. % @880 38

3. % 08820 39

4. % OZB0 43

Question Number : 10 Question Id : 441009127243 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Seventh Schedule of the Indian Constitution defines the distribution of subjects between the Union
and the States. Which of the following statements is correct?

Options :

1. ¥ It reflects the federal structure of the Indian Constitution.

2. ® Itis governed by Article 365 of the Constitution.

3. # The Seventh Schedule was added later through a constitutional amendment.

4. % Tt categorizes subjects into two lists: Union List and Concurrent List.

Question Number : 10 Question Id : 441009127243 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 11 Question Id : 441009127280 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements correctly reflects the federal nature of India’s Union?

Options :

1. # The Government of India can legislate on State subjects at its discretion without any restrictions.

2. ¥ The Union Government has the authority to legislate on State List subjects to implement an
international agreement.

3. % States possess complete sovereignty within their territorial boundaries, independent of the Union.

4. % The process to impeach a Governor can be initiated with the President’s approval.

Question Number : 11 Question Id : 441009127280 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 12 Question Id : 441009127340 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
In the national interest, under which condition can Parliament legislate on a subject in the State List?
Options :

1. ¥ If the Rajya Sabha passes a resolution with a two-thirds majority of the members present and
voting

2. % If the Rajya Sabha approves it with a two-thirds majority of its total membership
3. % If the Rajya Sabha grants approval with a simple majority of its total strength.
4. % If the President unilaterally directs the Rajya Sabha to permit such legislation.



Question Number : 12 Question Id : 441009127340 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 13 Question Id : 441009127646 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What is the correct composition of the Lok Sabha (Lower House of the Indian Parliament) as per 2025?
Options :

1. % 530 members from states + 20 from Union Territories + 2 Anglo-Indian nominees

2. ¥ 530 members from states + 20 from Union Territories

3. ¥ 500 members from states + 50 from Union Territories

4. % 550 members from states + 2 from Union Territories

Question Number : 13 Question Id : 441009127646 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2025 [5G0 78085 (23755 TR0 NS H25) DT §°¢0.) DN0e3?
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Question Number : 14 Question Id : 441009127659 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Union Government is considering appointing a person as a judge in the Supreme Court. Who, in the
President's opinion, is a distinguished jurist. What further qualifications are required for such an
appointment?

Options :
1. ¥ Must have served as a High Court judge for at least five years
2. ¥ Must have been an advocate in a High Court for at least ten years

3. # Being a distinguished jurist in the President’s opinion is sufficient



4. ¥ Both (A) and (B)

Question Number : 14 Question Id : 441009127659 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 15 Question Id : 441009127665 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What is the required majority for passing an impeachment resolution against the President of India in
each House of Parliament?

Options :

1. # At least two-thirds of the total number of members in the House
2. % More than half of the members present and voting

3. # More than 50% of the total strength of the House

4. ¥ At least two-thirds of the members who are present and voting

Question Number : 15 Question Id : 441009127665 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 16 Question Id : 441009127672 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What does judicial activism mean in the context of the Indian Constitution?

Options :

1. # The judiciary strictly interprets laws without interfering in legislative or executive actions.

2. ¥ The judiciary takes a proactive role in protecting citizens' rights and ensuring justice by compelling
the legislature and executive to fulfill their constitutional duties.



3. # The judiciary expands the scope of existing laws through broad interpretations to address social
issues without directly forcing legislative or executive action.

4. % The judiciary reviews and strikes down laws or executive actions that violate the Constitution while
avoiding any proactive role beyond adjudication.

Question Number : 16 Question Id : 441009127672 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 17 Question Id : 441009127676 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Under Article 250, how long do parliamentary laws on the State List remain valid after an emergency
ends?

Options :

1. ¥ 6 months
2. % 3 months
3. % 1 year

4. % 1 month

Question Number : 17 Question Id : 441009127676 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 18 Question Id : 441009127680 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which Article of the Indian Constitution grants full faith and credit to public acts, records, and judicial
proceedings across India?

Options :

1. ¢ Article 261
2. % Article 256
3. % Article 266
4. % Article 263

Question Number : 18 Question Id : 441009127680 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ 8880 261

2. % &880 256

3. % 9OEB0 266

4, % 98350 263

Question Number : 19 Question Id : 441009127681 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Inter-State Council was first established in 1990. How many members of cabinet rank can be part of
it?

Options :

1. ¥ 06

2.% 05

3.% 10

4. % 02

Question Number : 19 Question Id : 441009127681 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. ¥ 06
2.% 05
3.% 10
4, % 02



Question Number : 20 Question Id : 441009127687 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

On the request of two or more states, the President can appoint a Joint Public Service Commission (Joint
PSC). What is the maximum age limit for the Chairman of such a commission?

Options :

1. % 65 years
2. % 60 years
3. ¥ 62 years
4. % 70 years

Question Number : 20 Question Id : 441009127687 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 21 Question Id : 441009127690 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

As per the Constitution, what employment opportunities are available to a retired members of a Union
Public Service Commission?

Options :

1. # They can join any employment as per their wish.

2. #® The Constitution prohibits them from joining any employment after retirement.

3. % They can be appointed as the Chairman of Union Public Service Commission (UPSC)

4. % They cannot join any employment within the state from which they retired but can be appointed as
the Chairman or a Member of another State Public Service Commission.

Question Number : 21 Question Id : 441009127690 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 22 Question Id : 441009127694 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which authority has the power to recommend the distribution of the net proceeds of taxes between the
Union and the States?

Options :

1. ¥ Finance Commission

2. % Income Tax Commission of India

3. % Comptroller and Auditor General of India
4. % GST Council

Question Number : 22 Question Id : 441009127694 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 23 Question Id : 441009127701 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

As of 2025, which of the following powers is not related to the Comptroller and Auditor General (CAG)
of India?

Options :

1. # Auditing the State Contingency Fund

2. % Auditing the Consolidated Fund of the State
3. ¥ Certifying the net proceeds of incom tax

4. % Compilation and maintenance of accounts of the Central Government

Question Number : 23 Question Id : 441009127701 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 24 Question Id : 441009127704 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which provision specifies that the Finance Commission consists of a total of five members, including the
Chairman, and that one of them must be an expert in economics?

Options :

1. # Article 149 of the Indian Constitution

2. ¥ Finance Commission (Miscellaneous Provisions) Act, 1951
3. ® Presidential Order of 1950

4. % Article 148 of the Indian Constitution

Question Number : 24 Question Id : 441009127704 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 25 Question Id : 441009127709 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

In 2007, the Government of India established the Second Commission on Centre-State Relations. Who
was the Chairperson of this Commission?

Options :

1. ¥ Madam Mohan Punchhi

2. ® Ranjit Singh Sarkaria

3. % Bellary Sivaraman

4. % Manepalli Narayana Rao Venkatachaliah

Question Number : 25 Question Id : 441009127709 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 26 Question Id : 441009127711 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT related to the Inter-State Council?
Options :

1. % Sarkaria Commission

2. % Article 263

3. # First Administrative Reforms Commission

4. ¥ 69th Constitutional Amendment Act

Question Number : 26 Question Id : 441009127711 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 27 Question Id : 441009127716 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following commissions were established by the Central Government to study Centre-State
relations?

Options :

1. ¥ Rajamannar Commission
2. % Punchhi Commission

3. # Sarkaria Commission
4.+ Both B and C

Question Number : 27 Question Id : 441009127716 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

B0(&-T°(R D00 €9¢35ANI0 TANTERE Zo(E (5250¢5 50 (BOE o EARD
DT®YEN TWDL0E?

Options :

1. % 0°23600°) 0 S0

2. % o) S0AN

3. % Q07005 EQ0AN



4. ¢ B BN C Doty

Question Number : 28 Question Id : 441009127724 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which Prime Minister was associated with the establishment of the Sarkaria Commission under the
chairmanship of Justice Ranjit Singh Sarkaria?

Options :

1. ¥ Indira Gandhi
2. % Rajiv Gandhi
3. ® Morarji Desai

4. # Indira Kumar Gujral

Question Number : 28 Question Id : 441009127724 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

299 30236 00 HT™),OAST €358 €55 DT, BT ENQ DT*YENES ) (DGPS00( 38
Q02030 Go&?

Options :

1. ¥ Q080°r0d

2. % 78S rod

3. % 3000 TFod

4. % 080° 05520 HT°S

Question Number : 29 Question Id : 441009127728 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What was the recommendation of the Sarkaria Commission regarding All India Services?

Options :

1. ¥ The institution of All-India Services should be further strengthened, and some more such services
should be created.

2. ® The All-India Services should be gradually phased out and replaced by state-level services.

3. % States should have complete autonomy in recruitment and management of All-India Services.

4. % The recruitment to All-India Services should be conducted separately for each state to ensure
regional representation.

Question Number : 29 Question Id : 441009127728 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

@D 233 OB NN H0OAO0D JHT*)8A5® EAS Dardd) Dee3?

Options :

1. ¢ @D 235 eh HB L0 HOD B0 226 050 BASTO, BEP0E3 HOF)
VIO QIR0 T FBDR0A.



2. % @D 235 HB $0 (FHOTT BN TR 3¢S 0SS TR o I8 §0e%
033V,

3. % @D 2SS OB s DAIT0E0, DB S’ T°laFOE) $J°8 D S0HODEBHE
&0OTO).

4. % [ 0S0D BT TN 9> 275 eh OB X0 AOSTNTEOD (563
O Q8 ST LK QY 300 w°E).

Question Number : 30 Question Id : 441009127731 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

On June 9, 1983, the Central Government constituted a commission to study Centre-State relations,
famously known as the Sarkaria Commission. Who were its members?

Options :
1. ¥ Ranjit Singh Sarkaria, Sudhanshu Ranjan Sen, B. Sivaraman
2. ® Ranjit Singh Sarkaria, P.V. Rajamannar, B. Sivaraman

3. % Ranjit Singh Sarkaria, M.M. Punchhi, Sudhanshu Ranjan Sen

4. % P.\V. Rajamannar, Sudhanshu Ranjan Sen, B. Sivaraman

Question Number : 30 Question Id : 441009127731 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

237°S 9, 198385, SO(-0°a D005 @9¢I$ONS0 TWANTIE TO(EI (23065 S0 DT®)EN
DO 2,8 EAS D7) 8055 EQAS @ DENTHR. TR D2FEN DeIB0?

Options :

1. ¥ 3023 DON HT°YBAS®, NG F0BS VS, 8. ST

2. % 5023 20N QSD, 8.0.0°2e0°) B, &). BIT®NQ

3. % 50233 DON ST )BASP, 0.00. JPOD), G 0B VR

4. % .. T°2307°) 8, G $0BS VN, 8. BNTDS

Question Number : 31 Question Id : 441009127736 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The presence of Rajya Sabha in the Indian Parliament signifies which key characteristic of the Indian
Constitution?

Options :

1. # Unitary Nature

2. ¥ Federal Structure

3. # Parliamentary Democracy

4. % Presidential Governance

Question Number : 31 Question Id : 441009127736 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



2565 SPOOENES” T°e35085 GOBEI0 278 ed T°23°50K0 TBEY & S8 ©F )
QrDNOE?

Options :

1. % D8Eyeh 5230

2. ¥ Q3PS QT°20

3. % rO0ES (D2 050

4. % O°(QDed TS

Question Number : 32 Question Id : 441009127747 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Before the recommendations of the Balwant Rai Mehta Committee, when was the Community
Development Program launched for rural India?

Options :

1. ¥ 1952
2. % 1957
3. % 1962
4. % 1972

Question Number : 32 Question Id : 441009127747 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

220 0 TON oT@ EES VTR )E0 SN0, (MPaded 2S5 30 §00 Esorsdes
TR0 (e ) D)) (B0 0T E0?

Options :

1. v 1952

2. % 1957

3. % 1962

4. % 1972

Question Number : 33 Question Id : 441009127751 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following was not included in the structure of the Community Development Program?
Options :

1. ¥ Agriculture and Irrigation

2. % Health and Sanitation

3. ¥ Defense and Military Cooperation

4. % Rural Cottage Industries

Question Number : 33 Question Id : 441009127751 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
E3055¢3 BIODROE (P DT80S &5 180 ae3eS” D 3B )2dCSC0?



Options :

1. % 538000 8050 eI Bade
2. % 8650 0O TOHE 0

3.9 38 29 B3N AE DarsB0

4. % (Pea 50¢38 HOFsven

Question Number : 34 Question Id : 441009127755 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following was not a major reason for the failure of the Community Development Program?
Options :

1. ®¥ Administrative inefficiency

2. % Lack of local leadership

3. ¥ Scientific approach in planning

4. % Lack of financial resources

Question Number : 34 Question Id : 441009127755 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

E5305°50¢3 BISODHROE (DT VN0 I8 88 180 ¢3S’ (DTS S°B€90 A
DE?

Options :

1. % 58r0x° 9l

2. % P8 TONE5 S0 BEFENCB0

3. ¢ (DT LS FADH VS0

4. % 308 3% T8

Question Number : 35 Question Id : 441009127758 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

For all the states of the Union of India, is it mandatory to establish Panchayats at the village,
intermediate, and district levels regardless of other factors? Which Article of the Indian Constitution
states this?

Options :

1. % Article 243K
2. ¥ Article 243B
3. % Article 243]
4. % Article 243G

Question Number : 35 Question Id : 441009127758 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

ORTACNS B85 ROGATS' Q) T°aFOZ, BSE OTOS D000 B0 (T,
Q08309 BAW 2L FPONOE HOTTADNBO DT®IEN TWANBO D IAIHT® 2



2365 T°2s0K063°Q &) ©9EEGEE0 B BOOHEN0E?
Options :

1. ¥ 903890 243K
2. ¥ O8G0 243B
3. % Q8820 243]
4. % 00880 243G

Question Number : 36 Question Id : 441009127759 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

As per the provisions for the District Planning Committee, which of the following is true regarding the
selection of its members?

Options :
1. % 4/5 must be elected, with 50% from Panchayats and 50% from Municipalities

2. ¥ 4/5 must be elected, and the ratio must be similar to the population size of Panchayats and
Municipalities.

3. # 3/4 must be elected, with 50% from Panchayats and 50% from Municipalities.

4. % 3/4 must be elected, and the ratio must be similar to the population size of Panchayats and
Municipalities.

Question Number : 36 Question Id : 441009127759 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

267 DT DE E0¢3 D220BNO 1DFB0, Q) N2V DODEZ H020HOD (80 ¢3S’
DA Jeb50?

Options :

1. % 50% DOTTONEB HOG DOAN 50% SNV OB, 4/5 HOA D) Fr.

2.9 4/5 0 DALFTO 08050 DA 9TE DOTTONEEN HAAIM SNV Oede>
23072 DO DTS00 GoEd.

3. % 50% HOTTOANEBE DO DO 50% SNV e3> 0B, 3/4 5065 DO
D) .

4. % 3/4 5065 0B D) Fd HBM AN T HOTTADBIEN HOA
SNADTO 3 T2 HBIFETIE N3PSO SO,

Question Number : 37 Question Id : 441009127762 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

As of 2025, how many national political parties are there in India?
Options :

1.% 5

2.% 7

3.% 4

4.9 6



Question Number : 37 Question Id : 441009127762 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2025 5°¢38, 2@ SESTFOS’ A 230D T°380H yEen e ow?
Options :

1.% 5

2. % 7

3.% 4

4.v 6

Question Number : 38 Question Id : 441009127768 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a condition for a political party to be recognized as a national party in India as
per the 2019 criteria?

Options :

1. ¥ Secures 6% of valid votes in any four or more states in a general election to the Lok Sabha or
legislative assembly and wins 4 Lok Sabha seats.

2. % Wins 2% of seats in the Lok Sabha, with candidates elected from at least three states.
3. # Is recognized as a state party in four states.

4. ® Wins at least 10 seats in the Rajya Sabha from three states.

Question Number : 38 Question Id : 441009127768 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2019 [DSTETO (DSE0 e@SSTIOS’ 28 To38aDH T8 232630 »O HB0TIHICHETIE L0
¢3S DA 2.8 D2205S?

Options :

1. ¢ S°5025 S A58 80T S ) ES DT e S 0SS0
D025 O°arS” TEV2rEN TS LIS 6% FOB, 4 STEIZ Freredd TeIB0..

2. % 590 03¢0 T D0 ) B 02550 552563 2% 0 TS0
3. % e ool o T HB0Y oo

4. % 305°¢8 O°al® 0D 072350256 E0 10 EY FentHnsscso

Question Number : 39 Question Id : 441009127770 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is correct?

Options :

1. ®# Andhra Pradesh separated from Telangana in 1963.
2. % Uttarakhand separated from Uttar Pradesh in 1985.
3. #® jharkhand separated from West Bengal in 2000.

4. % Chhattisgarh separated from Madhya Pradesh in 2000.



Question Number : 39 Question Id : 441009127770 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

808 (DELIOS’ A HTIE?

Options :

1. # 196365 S0 N0Q SO(HINTT AATFFONOE.
2. % 198565 &BENTB N0 GBTPO&H JEFONOL.
3. % 200085° 5360 TS 0D 2P0k JEFONOL.

4. % 20006 DBIDTT 0D JBDHEE DEFONOE.

Question Number : 40 Question Id : 441009127775 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

People are demanding the creation of a new state, and the Union Government wants to fulfill this demand
by carving it out from the mother state. However, the state government of the mother state rejects the
demand by passing a resolution in the state legislature. What options does the Union Government have?

Options :

1. # The Union Government can make the state by applying an emergency.

2. #® The Union Government can impose Presidential Rule and then create the new state.

3. ¥ The Union Government can create a new state even contrary to the opinion of the state government

4. % The Union Government cannot proceed as the state government denies permission for the new
state.

Question Number : 40 Question Id : 441009127775 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

192300 S T7aFQ) DT®YEN DATO G308 TRR) &, TOIE (206550 A Soehy
O 0 OB BFFOBOTIB0 t° ST &8 B3T08 ) IBST IO ZTDRN0R. AN, STeh,)
TR (92065 50 TR TSNS’ BT, SDFEOTIE0 T S0° &2 BRATO)
SE0380D0R. B0 (DZNT”LIE &) DOVZEN Dae3?

Options :

1. % 0[S (029065 50 ¢8558 DOVBA HB0DBON0 T3° ST° T°al), 83778 )3T).

2. % 0[5 102065 50 TN PO DQ0D § T ), DTN BONNTDY).

3. Ol (D205 § @) [arOSrA8 DO §5°ca® TO(X 1925065 50 T T o), DT°)EN
S0HS50.

4. % TS 0728 T°(Q 192065 S0 @903 AT EB0DG00S Bo(ES 102565 50 S00cHEL
P9E0.

Question Number : 41 Question Id : 441009127779 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

In which year was the National Integration Council (NIC) first established?
Options :

1. % 1968

2. % 1980



3.¢ 1961
4. % 1992

Question Number : 41 Question Id : 441009127779 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

SASS 203 TAS TS (NIC) DI ) D055 IB0S T 0TIDEH0E?
Options :

1. % 1968

2. % 1980

3.¥ 1961

4. % 1992

Question Number : 42 Question Id : 441009127782 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following best represents regionalism in India?
Options :

1. ® Preference for one's religious community over the nation
2. % (Caste-based loyalty over national interests

3. ¥ Demands for secession by certain states from the Indian Union

4. % Favoring one's language while opposing other languages

Question Number : 42 Question Id : 441009127782 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

&3 1808 T3S’ B 2rBSTIOS’ |FOSCHTTTRY, €O SFDROE?
Options :

1. % 350 0B 563 &8 (D 5rdsed

2. % 209 (DBFBTO D 00 S5O DO

3. ¢ 25755 OOPAANR OG §Y T°(ale DGO B30

4. % 3653 2PAOQ) HBVEAFT 5 2372 De00TNE B0

Question Number : 43 Question Id : 441009127815 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Seats for Scheduled Castes (SC) and Scheduled Tribes (ST) are reserved in Legislative Assemblies.
Which Article of the Indian Constitution provides for this arrangement?

Options :
1. ¥ 330A
2. % 16(2)
3. % 330
4.9 332



Question Number : 43 Question Id : 441009127815 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2365 2S00 &) OEGEE0, TS H25eeS BT Zoere (SC), BT SBiien
(ST) B0 VLY BEFONOTIHDT DTYEND 90BNOE?

Options :

1. % 330A

2. % 16(2)

3. % 330

4.9 332

Question Number : 44 Question Id : 441009127817 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

As per the Indian Constitution, which Article provides that the State can make provisions in the services
under the State in favor of the Scheduled Castes and the Scheduled Tribes?

Options :
1. % 16(1)
2.9 16(4A)
3. % 16(4B)
4. % 16(3)

Question Number : 44 Question Id : 441009127817 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

23°5e Toe3 5050 (DSE0, TR0 S IO 22855 Foeren HBO5M EesS BHerd0
NETOOM Q200N TANHDOA 2 9OEBEI0 T2NSOE?

Options :

1. % 16(1)

2.9 16(4A)

3. % 16(4B)

4. % 16(3)

Question Number : 45 Question Id : 441009127820 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Indian Constitution provides several provisions to strengthen the situation of SCs/STs in the nation.
Which of the following options contains one or more provisions that are NOT related to SCs or STs?

Options :

1. % 334,15

2. % 16,243D, 17

3. % 244, 46, 338A
4. ¥ 15(4), 331, 243T



Question Number : 45 Question Id : 441009127820 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

T30S SCEN/STE HBVB S H0 TONTE 23S eh T23°5050 RE 220D
0ANOA. &3 80O NONEDOS’ DA SCeN B STOZ HoDOHODNS 5°Q 2.5¢3 S
©0BE0T) DY ADO0HION EDA &0d?

Options :

1. ¥ 334,15

2. % 16,243D, 17

3. % 244, 46, 338A
4.9 15(4),331,243T

Question Number : 46 Question Id : 441009127821 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
Which Article of the Indian Constitution deals with the educational rights of religious minorities?

Options :

1. ¥ Article 30
2. % Article 29
3. % Article 21A
4. % Article 44

Question Number : 46 Question Id : 441009127821 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

23S eh T2 50506 & OIS0 SIS Dr8eded Doy FPEVLOR
Q0D0QOVIE?

Options :

1. ¥ &880 30
2. % 908890 29
3. % 880 21A
4, % 9OZH0 44

Question Number : 47 Question Id : 441009127822 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

To add any tribe as a Scheduled Tribe (ST) in India, which process must be followed as per the
Constitution?

Options :
1. * Article 242 — President by notification declares a tribe as Scheduled Tribe.



2. % Article 342 — Governor of the concerned state issues a notification.
3. ¥ Article 342 — President by notification declares a tribe as Scheduled Tribe.

4. % Article 242 — Governor of the concerned state issues a notification.

Question Number : 47 Question Id : 441009127822 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2PESTFOS AT BHD 0BT B (ST) T TS ITE, T°2$0K0 [DFS0 o) (DB
080T O?

Options :

1. % OEE0 242 — T° 0D SEINTAS & 50° 2,8 BHED ABED SEMT (DEESI .

2. % eOEB30 342 - SO0 T°(Q $3818 SEINTAS 2378 T K.

3. ¥ ©OES0 342 — T DS SEIDTAS 750" 208 BED 20D BHM (DEEST .

4. % 95880242 - 00 TR (13510 SEINTAS 23°8 T K.

Question Number : 48 Question Id : 441009127824 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which types of minorities are recognized by the Constitution of India?
Options :

1. # Religious Minorities

2. #® Linguistic Minorities

3. ® Ethnic Minorities

4.+ Both A and B

Question Number : 48 Question Id : 441009127824 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2S¢ T2 5000 & SERS Dordederadd HBoDoE?
Options :

1. % 0I5 Dordeden

2. % 237arH0208¢ Jordeden

3. % 2@ ordeSen

4. ¢ A HOAN B Boy

Question Number : 49 Question Id : 441009127827 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What is the minimum imprisonment for an offender under the SC/ST (Prevention of Atrocities) Act?
Options :

1. % 3 months

2. ¥ 6 months

3. % 1 year



4. % 2 years

Question Number : 49 Question Id : 441009127827 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
SC/ST (@&°§z3°0°e> JarBea) IO 808 FEWGE A0 Bew 38, d0oeh?

Options :

1. ¥ 3 300

2.¥ 6 SO

3. % 1005¢85)50
4. % 2 309¢5)Yoren

Question Number : 50 Question Id : 441009127828 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The provisions for punishment under the SC/ST (Prevention of Atrocities) Act are applicable to which
section of people?

Options :
1. % Applicable to all persons

2. % Only applicable to common citizens but not to government employees to protect them in the
function of their duties

3. % To all members (government employees and common people) who are not members of the SC and
ST community

4. % o all persons, but only after the primary investigation finds them accused

Question Number : 50 Question Id : 441009127828 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

SC/ST (@& T30 B EE) T 808 FE 80 H00E0DS AVOHIEN & ST°©
102330 SO 0N?

Options :

1. % 355000888 S8N0H

2. % 0369 DO 375330 SN0 520 (992065 ¢ S SHOZ 78 DO QE ereacS
B B8.0N0@8 5°¢H

3. ¢ SC, ST 5238 SB0E K250 5°Q H2050C8E (929658 &SN, TS
(D23en )

4.8 3550500988, 2 (N8 DTS 3 QOESENT BES HT®Seh S| eH o

Question Number : 51 Question Id : 441009127829 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



Which authority has the power to establish a Special Court for speedy trial under the SC/ST (Prevention
of Atrocities) Act to provide timely justice to victims?

Options :

1. % State Government only with the approval of the President

2. % Parliament with the recommendation of the National Commission for SC and ST

3. ¥ State Government alone can do such an arrangement without Central Government approval

4. % With the recommendation of the High Court, the Central Government can do such arrangements

Question Number : 51 Question Id : 441009127829 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2PEBOZ D0 T*I0N0 OB’ SC/ST (98 sT3T°e AFHE) 90 80cS
SHS0S TS DTrSed 0 (DB 5E T DT°YEN B 9ESHE0 &) 958e38 od?

Options :

1. % O QD e[0T S Ola (9250es 50

2. % SC, ST 2305 EMAS VTSNS FTZ0ES

3.9 B30I 102065 § @060 S0 U7 (020 S0 2,83 T ®ET0E3 DTN T3ONEED
4. % 2780 B0 T 199205 50 ReT0ES DT HED TADHEED

Question Number : 52 Question Id : 441009127832 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The National Commission for Women (NCW) came into existence as a result of which of the following
acts?

Options :

1. ¥ The National Commission for Women Act, 1990

2. % The Protection of Women’s Rights Act, 1995

3. % The Women’s Empowerment and Welfare Act, 1988
4. % The National Women’s Equality and Justice Act, 1992

Question Number : 52 Question Id : 441009127832 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

1BO& ¢3S 2305 sNeTw™ EAS (NCW) & 580 DS &IESE SO JOE?
Options :

1. ¢ 22305 e EDAS €0, 1990

2. % 0¥ P 8. w90, 1995

3. % 0rF rO5EH 805N HOZ.0 &0, 1988

4. % 22305 sDIPF® DTS $0 SN °ANO IO, 1992

Question Number : 53 Question Id : 441009127833 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



What is the total strength of the National Commission for Women (NCW), including the Chairperson and
Members?

Options :

1. # One Chairperson and four Members
2. ¥ One Chairperson and five Members
3. # One Chairperson and six Members

4. % One Chairperson and three Members

Question Number : 53 Question Id : 441009127833 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2305 SeFF® EMAS (NCW) TEIBIS OO 20O D5 Vo D25 Do
Oe5?

Options :

1. % 2,8 TOIEIN 0B SenthHdd H2dvgen

2. ¥ 2,8 TOIEIN DB 20C0HG S2gen

3. % 2,5 TOIB)YN 0O 8B d2vsen

4. % 2,8 TODSIS 08A%0 S0 Havsen

Question Number : 54 Question Id : 441009127835 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

In the context of National Commission for Women, individuals can be nominated by the Central
Government if they have experience in which of the following fields?

Options :

1. ¥ administration, economic development, health, education

2. % women activists,women’s voluntary organisations, technology
3. % social welfare, experience in law, woman sports

4. % sociological movement, health, infrastructure

Question Number : 54 Question Id : 441009127835 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

230 SeFF® EMAS HORBI0S’, BoB ¢3S’ & SO’ @a2550 E5ad) S5O
Z0(& (D25¢5 SO TPaNTE TTOITN)?
Options :

1. ¥ D8O, 385759 R, esBi50, DS

2. % 030 52858800, 0T O £9)08 SOReN, PO (TIS) ©2)
3. % o208 DO0B.N0, VO’ 902550, dvere |Scsen

4. % 3288 €5¢55500, es81550, SF°OE DT ASTen



Question Number : 55 Question Id : 441009127836 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following is NOT deemed to be a member of the National Human Rights Commission
(NHRC) of India?

Options :

1. ¥ Chairperson of the National Commission for Scheduled Castes
2. % Chairperson of the National Commission for Minorities

3. # Chairperson of the National Commission for Women

4. % Chairperson of the National Commission for Backward Classes

Question Number : 55 Question Id : 441009127836 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

1BOE FBE 2786 2305 S33ed 2503 A (NHRC) 25
DB DBHEF0TICE 07

Options :

1. % 230 BT Soered ENAS TOISIS

2. % 23305 DorOeS EAS TOIEIS

3. % 205 NPT EAS TOISYS

4. ¥ 2309 SHERES HBHA EAS TONSHIS

Question Number : 56 Question Id : 441009127837 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT a function of the National Human Rights Commission (NHRC) as per
the Protection of Human Rights Act, 1993?

Options :
1. # Inquiring into complaints of human rights violations, either suo motu or on a petition by a victim
or any person on their behalf.

2. ¥ Intervening in any court proceeding involving allegations of human rights violations, without the
court’s approval.

3. # Visiting jails and other institutions under Central Government only, and studying the living
conditions of inmates and making recommendations.

4. % Undertaking and promoting research in the field of human rights.

Question Number : 56 Question Id : 441009127837 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

SRS S0, HOSE.9 IO, 1993 (DGO (B8O 3¢36S° 2326305 35793 s78020 EAS
(NHRC) & 55 0&?

Options :

1. % 557065 578090 0N DTSN, D SODOMT BT 23°QIB B® o3°0 S8
DB 958 TN TS DEZAS 2 D" O0TI0.



2. ¢ S35 B0 G0N SENOE G B §D JirdeacS, ) eodddsdned
SEoore 850 TNTSS0.

3. % B0|ES (925068 § DBAS' B, RS OO Srlehad DB 0190, BAE 285
DOV ©E§ONRE0 TOANE0, DB YN DA O.

4. % 3385 57803 B0H0ES HBIEIIR0 THEIS0 085 |5 Jor0tHcso.

Question Number : 57 Question Id : 441009127844 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Indian Constitution has several unique features. Select the aspects that are reflected in the Indian
Constitution:

1.Liberal-Democratic Nature
2.Federal State
3.A Welfare State

4 Presidential Form of Governance
Options :

1.% 1,3

2.91,2,3

3.%2,3,4

4. % 1,3,4

Question Number : 57 Question Id : 441009127844 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2S¢ 0o 500 R (DB5E ©F 7O SO G0B. 238 Trersorios’ (D00
0O DOTNTOS:

1. G- (D2 Lo § Q2700
2. D3> T°le0
3. 003 oresso

4. @38 (LRAVTBIONSD) FPOT° D0
Options :

1.% 1,3

2. 1,2,3

3.%2,3,4

4. % 1,34

Question Number : 58 Question Id : 441009127847 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



Some features of the Indian Constitution are borrowed from the constitutions of other nations. Select the
countries from which the Indian Constitution drew inspiration:

1.American Constitution
2.French Constitution
3.Written British Constitution
4.Constitution of Ireland

5.South African Constitution

Options :

1.% 1,2,3.4
2.91,2,4,5
3.% 1,2,3,5
4. % 23,45

Question Number : 58 Question Id : 441009127847 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

23585 725060 ) OF e300 RHS TF T2FSOMTS OO0 3 NERF 0. 2336
T2 000 B PO TF"D DOTNTOR:

1. D88 Trarsorio

2. DOV orargoiio

3. O (D3N Tr3rs00
4. 00°0& Trars0N0o

5. B8 (D3 Trers0i0
Options :

1.% 1,23.4

2.9 1,2,4,5

3.% 1,2,3,5

4. % 2345

Question Number : 59 Question Id : 441009127853 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Indian Constitution is often described as a unique blend of rigidity and flexibility. Which of the
following provisions reflect this dual nature?

1.Certain constitutional amendments require a special majority in Parliament.

2.Some provisions can be amended by a simple majority, like ordinary laws.

3.Fundamental Rights can be amended without judicial review.



4.The federal structure of the Constitution cannot be altered easily.

Options :

1.+ 1,2,and 4
2.% 1,3,and 4
3.% 2 3,and 4
4. % 1,2,and 3

Question Number : 59 Question Id : 441009127853 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

285 T2 SO, HSTNM ¢85 50 BN DEFd T3NE); (DBES DS S0rT
DS, &3 (0 D0BIDOES’ G &3 ¢55085£ N 2, (DD 0DNOE?

1. §Q) 072500 5850 2P 0eneS (DSB8 0258¢S 9:5980.
2. 52 Q2303 PGS TIETe ATrOOTR PerSed 2083 Nd80TISTR).
3. 07505 DD, SROT [(PPWE 78030 D580,

4. 072350150 A3NEY DTS QT°RETR), SO 378 ) S 30,
Options :

1.¥ 1,2, D80 4

2. % 1,3, 0805w 4

3. % 2,3, 0805w 4

4. % 1,2, 0805 3

Question Number : 60 Question Id : 441009128926 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Constitution of India is often described as neither rigid nor flexible, but a blend of both. Which of the
following reasons justify this statement?
1.The Indian Constitution can be amended as per the choice of the Lok Sabha.

2.Some constitutional amendments require approval from state governments.

3.Before introducing any constitutional amendment bill, the President’s permission is required to check
Parliament’s functioning.

4.Different types of parliamentary resolutions require different types of majorities for passage.

Options :

1. % 1,2,and 3
2. % 2 and 4 only
3.% 1,3,and 4
4. % 2,3 and 4



Question Number : 60 Question Id : 441009128926 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2°8¢% T2 $050 AN EBIDID(BBE) B ST 5°¢, 520 BoR0ES SN
SQ0T2S0E. &2 (0O SBETOS’ DA St (HEEISDN DB N0EH?

1. S5 25 QaTOTE0 2785 T°e S0 D80S

2.8 07235005 DadBE) TR (D2 S eST70 9530.

3. DB T°23500 D35 DNV (BT DT 0O, FODOEN DK S
BONTAE T (DY €90} €95BO0.

4.DE B35 FOOLIE BTN SRTCI0 FOSTAL DV 3570 erded e030.

Options :

1. % 1,2:06050 3

2.9 2 0005 4 S (b
3.% 1,300 4

4. % 2,3 0805 4

Question Number : 61 Question Id : 441009128947 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding the Indian Constitution:
1.The presence of a bicameral legislature at at all state level.

2.The existance of single judiciary which operates independently
3.The existence of a dual government system.

4.The role of the Governor.

5.The presence of integrated services.

Which of the statements support the federal nature of the Indian Constitution?
Options :

1. % 1,2, and 3 only

2. % 2,4 and 5 only

3. % 1,3, and 5 only

4.9 2 3 4 and 5

Question Number : 61 Question Id : 441009128947 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

25 eh 072 SOMT8 H020HOD &8 1808 525 HBID00G:
1.69Q) T3 o0 & 525 TS &0E)0.

2.0550(H0M DI & T°FONN IR €8

3.8580C858 102065 § 03590 €5 8.

4555053, 8 2r\éb.

5. 208316 OB 0 &8,



2865 T°23 500 TBNEY D3PS D 5278 o) (DI QB YNOE?
Options :

1. % 1,2 08050 3 S50°(edadd

2. % 2,4 00050 5 S°(ehodd

3.% 1,3 08050 5 S°(edad

4.9 23,4, 0830 5

Question Number : 62 Question Id : 441009128963 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Part XI, Chapter 1 of the Indian Constitution deals with the legislative relations between the Union and
the States. Which of the following Articles fall under this section?

1.Article 245

2.Article 255

3.Article 247

4.Article 265

5.Article 266

Options :

1.9 1,2, and 3 only
2. % 2, 3, and 4 only
3. % 1 and 3 only

4. % 1,3, and 5 only

Question Number : 62 Question Id : 441009128963 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

IO XI, 23°5¢5 072350650 165 957000 CRTICHS 080N TP s S TS
HODOGTOS S5O N0E. & (808 0OESOS A & VS HOASE Sow?
1.9088€0 245

2.9588£0 255

3.09088£0 247

4.9088£90 265

5.2908590 266

Options :

1. ¥ 1,2 0805 3 S(eHaDd

2. % 2,3 300050 4 (b

3. % 1 00050 3 S°(ehadd

4. % 1,3 00050 5 S(badd

Question Number : 63 Question Id : 441009128972 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The distribution of legislative power is well-defined in most cases under the Indian Constitution. In this
context, which of body have legislative power to make extraterritorial legislation in India?



1.Parliament only

2.Lok Sabha only

3.Rajya Sabha only

4.President with the advice of the Prime Minister

5.State Legislature

6.Indian Government with the approval of the United Nations

Options :

1. * 1 and 4 only

2. % 1 only

3. % 1 and 6 only

4. % 2,3 and 5 only

Question Number : 63 Question Id : 441009128972 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

25 eh T2 SON0 (DFB0 TRV ST DODES TP DOBT )OS &)

DB SDOIDB0E. 8 NSO, 2SSTFOS” TIEISBBE TIETEN B TR OSSO &
QOB &Go&?

1. S;OJD0EN S5°(H %

2. '8 925 S (ST

3. 07235025 30 €h o

41057 3008 HOTE T QD

5. 0% B0

6. 0ET°B LN S0 230G eh (38506 €0

Options :

1. % 1 8050 4 S5°(eHad
2.9 1 S°(eHad

3. % 1 08050 6 S°(eHa
4. % 2.3 00050 5 S|bad

Question Number : 64 Question Id : 441009128977 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Under normal conditions, states have the power to make laws on subjects listed in the State List.
However, the Indian Constitution provides certain provisions where Parliament can assume the power to
legislate on State List subjects. Which of the following provisions grant this power to Parliament?
1.During President’s Rule under Article 356

2.During an emergency under Article 352

3.During an emergency under Article 250

4.When two or more states request Parliament to legislate under Article 252

5.When Rajya Sabha passes a resolution with a two-thirds majority under Article 249

6.To give effect to international agreements under Article 253

Options :
1. % 1,2,and 4 only
2. % 1,3,4, and 6 only



3. % 1,2,4,and 5 only
4.9 1,3,4,5 and 6

Question Number : 64 Question Id : 441009128977 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

S HOVHS’ T7aTE 27DT S @O D) IETFEN T OSSO0 T aFOE
GOLN0E. B, §Q), DOBT* YOS’ PG T0EN TR 2PDE® AT D LIEFeN T
OOFT) TALSII 278ed T°2S0H0 FPOIOENZE OO . &3 (80 ¢3S’ &
Q2208530 G RD0ENZL &t ST R)) [NON?

1. @85S0 356 803 TN S HeHoHoS’

2. @OES90 352 80C €9¢58:595 DehaHoeS

3. @9OES0 250 8065 @¢55558 HevoHoeS’

4. @©EEBEI0 252 (DSB0 IO WO BOK B3° 90SZ0TI BV T°(are
DPOR0EN FOID )

509553690 249 (DSE0 oG 0e3 BOGOS 2r8e3& Tre3sd23eS ST
EINVIATSTAINIO RN

6.90B€90 253 (D0 90ST° 0D 205 )OTTO €0 TONTTE

Options :

1. % 1,2 00050 4 S (badd
2. % 1,3,4 300050 6 S|bad
3.% 1,2,4 00050 5 S5°(¢hadd
4.9 1,3,4,5, 000506

Question Number : 65 Question Id : 441009128994 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding the provisions of the Indian Constitution related to Public
Service Commissions:

1.Public Service Commissions are dealt with under Part XVI of the Constitution.

2.The provisions related to Public Service Commissions are mentioned in Articles 324-329.

3.Part XIV of the Constitution specifically deals with the establishment and functions of Public Service
Commissions.

4.The provisions regarding Public Service Commissions are covered under Part XIII of the Constitution.
Which of the statements given above is/are correct?

Options :

1. *® 1 and 2 only

2. % 3 only

3. % 2 and 4 only

4. % 1,2, and 4 only

Question Number : 65 Question Id : 441009128994 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



DD HELD EAIE H00E0NS 23Seh Toes*505063°Q Q220RIOE HO0E0D) &
B0& (538X HBBOOH0E:

1. DT D852 AN T°ers0806T° 1665 27150 808 3555TB°0W.

2. HAE HG R ZNNZ HODOE0DS D220 eOESI0 324-329¢5 D) ™) &.
3. 0°2S0H0ES R 1485 2750 HAT HE R EARD T, DV HBOoD (HSsEorr
DI,

4. HDE HG 5D ENNB HOD0E0DS D220855e TPes0N0eS R 138 2o HOES'E
SIPoW.

25 QD) (DELSOS’ DB HBSB/OBEY?

Options :

1. % 100050 2 Sr(had

2.9 3 S5

3. % 2 00050 4 S°(ehadd

4. % 1,2 00050 4 S(bad

Question Number : 66 Question Id : 441009128997 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following facts are related to the removal of the UPSC Chairman?

1.The President can remove the UPSC Chairman with the advice of an inquiry committee headed by the
Chief Justice of India.

2.The Chairman can be removed if he is adjudged insolvent.

3.The Chairman can be removed if, in the opinion of the President, he is unfit to continue in office due to
misconduct or incapacity.

4.The Chairman can be removed if he engages in any paid employment during his term of office.

5.The UPSC Chairman can be removed if proven guilty in any civil case.

Options :

1. % 1,2, and 4 only

2. % 2. 3, and 4 only

3. % 1,3, and 5 only
4.9 1,2,3, and 4 only

Question Number : 66 Question Id : 441009128997 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

808 °¢3S" UPSC BEQ SOA0HE D000 FPQere) d?

1. 237565 (DTS TP SONITE Tehgyeh L0 DT3rded EE3 DTS T 2ed UPSC TS0
SOR0TIITN).

2.3B2S OFer SV AT°B0IDES €95 SOA0TISTR.

3. 95580 ODEPONO [HDFSE0, CHIAISYS B e9d08e 280 DS’
TOTHET8 ©9¢53) IBTS, TBIS SOA0IBEITR).

43828 $5 DS 52006F AT TO0Y) &ESHOS QD) B SON0TI22E8IT.).

5. DB DAS BTN’ AT $2°SS UPSC TS0 SOR0tIS0).

Options :
1. % 1,2 00050 4 S (¢badd



2. % 2,3 500050 4 S(badd
3.% 1,3 08050 5 S°(eHad
4.91,2,3, 00050 4 S5°(¢H o

Question Number : 67 Question Id : 441009129010 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding the Comptroller and Auditor-General (CAG) of India:
1.Every person appointed as the CAG shall, before entering office, make and subscribe an oath before the
President.

2.The CAG shall not be eligible for further office under the Government of India or any State
Government after retirement.

3.The salary of the CAG is charged upon the Consolidated Fund of India.

4. The CAG can suo-moto initiate an investigation in cases of corruption.

Choose Correct Options.

Options :

1.9 1,2, and 3 only
2. % 1,3,and 4 only
3. % 2,3, and 4 only
4. % 1,2,3,and 4

Question Number : 67 Question Id : 441009129010 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2rE5T3% S0 FeD 0B &0 2333 (CAG)E H020HO0D (80 1HEEdD
DOHeIoS0s:

1. CAGT QODSBS (63 8358, HADSE (DSF0TS S000, TR 300D (S50
D, s Forrd.

2. CAG DB DB T 5% 2325 eb (325065 §0 BT TR° O (325065 50 180 0D
5SS 98 SO,

3. CAG G3Ey 28650 E°)OTBE HOE 35 YOOI D) TN TWONIEEA0E.

4. DA TNS H OSTET DB TBHQSD).

DB DODEDX JOTHTOR:

Options :

1.¥ 1,2 08050 3 875
2. % 1,3 00050 4 (b
3. % 2,3 00050 4 X°(ehadd
4.% 1,2,3, 0805 4

Question Number : 68 Question Id : 441009129026 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



Consider the following statements regarding approaches and aims of community development:

1.An asset-based approach in community development focuses on building existing strengths and
resources.

2.Community development aims to improve the health and prosperity of individuals rather than the
community as a whole.

3.Encouraging inclusive processes that embrace diversity is an essential part of community development.
4.Sustainable self-sufficiency and resolving community issues are key aims of community development.

Which of the statements given above are correct?
Options :

1.9 1,3, and 4 only

2. % 1 and 2 only

3. % 2 and 4 only

4. % 1,2,3,and 4

Question Number : 68 Question Id : 441009129026 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

E3075¢3 98598 TINEY DGTaren BN TS H0D0HO0RD) &5 180 [HELIOK
HBHS0N0%:

1.85307°50¢3 20D SRS’ &3 3578 DGd0 @DIEST &53) 227N sHBAIN SIKOK
QB0 B VCEA0A.

2. 83075 0¢3 B 2060 9FTE BB SN0 0T S 38750 HOORW
B3O DOBKDEIB0 8 SO ENZ0EN0A.

3. D8 & 5) DLEBOT DAVeH DEONOD 85I 0TIH0 D323 @059 DS’ 28
SWEMENVNEAL o)

4. 098 D A0 DaYE, DXNETA D520 DONYFBOIO DN O 939D
A30EY NS OZTEEN.

D3 AN (DELIOES” DE HBIE?
Options :

1.¥ 1,3 00050 4 S (badd

2. % 1 08050 2 S°(ehadd

3. % 2 08050 4 S°(eda

4. % 1,23, 00w 4

Question Number : 69 Question Id : 441009129031 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The first major rural development programme launched in October 1952 across 55 development blocks
had the following objectives:

1.Achieving holistic development of both material and human resources in rural areas.

2.Promoting local leadership and strengthening self-governing institutions.

3.Enhancing rural living standards through a significant rise in food and agricultural production.
4.Transforming people's mindsets by fostering a drive for higher living standards.

5.Establishing large-scale industrial zones in rural areas.

Choose correct statements
Options :



1.9 1,2, 3, and 4 only
2. % 2, 3, and 5 only

3. % 1,3,4,and 5 only
4. % 1,2,4,and 5 only

Question Number : 69 Question Id : 441009129031 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

1952 5206’ 55 98Xy Q 2PES |FB0DODS BNCHEI (DTS (PETD S5
52518000 8 (80O o550 $OA &od:

LUT0E (0TS 25635, $33°0969 93 HeMTPDHIR FEOTHSO0.

2. 3708 SeO0EE ), 186510090, D EIBTORT® Q0D 226 3¢50 TANEO.

3. @3558, 53 T35°¢5 )3 Q) HEARQ OO DOTICHO T° ST (TN 28638 (077>
D0TCEO0.

4.658).65 23S 103076770 TR0 S VOTFOAOTIR0 &7 5T° (D23 DI £
QP ) CS0.

5.0 (0TS S S FBFE S DTEIEW.

DB (DB J0THToR
Options :

1.9 1,2, 3, 00050 4 3¢5
2. % 2,3 300050 5 S|bad
3.% 1,3,4 00050 5 S°(ehadd
4.% 1,2,4 00050 5 S(bad

Question Number : 70 Question Id : 441009129038 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding early rural development programs in India:
1.The primary goal was to improve agricultural productivity and rural livelihoods.
2.These programs emphasized local participation and decentralized planning.
3.Industrialization of rural areas was a central objective of these programs.
4.Strengthening Panchayati Raj institutions was a key aspect of rural development efforts.
Which of the statements given above are correct?

Options :

1.9 1 and 2 only

2. % 2.3, and 5 only

3. % 1,3,4,and 5 only
4. % 1,2,4,and 5 only

Question Number : 70 Question Id : 441009129038 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2PSESTFOS’ (B0 (PRVETD YD 5B EXTOZ D0D0E0D & (OB 1DEESD™)
J82O 00!

1. S50 @ )85 50O (T S T BINNDBTIBO (T NE ©F SO.



2. B8 5235855700 RS 237 5P £e3050 SDOAN DTS (DT DERD S8 Tar ) ow.

3. ([[PO0ED |0 o8| Fa8ESen & 58585 3o ©F $O.

4. [[PETDNYD (DOH ) O’ HOTTONE T°e8 OO 2 S0 TONBO SOEND
©030.

28 A DB HTID DD?

Options :

1. ¥ 1 300050 2 S (badd

2. % 2,3, 00050 5 S5°(ed o

3.% 1,3, 4, 00050 5 (b

4. % 1,2, 4, 00050 5 S5°(ehod

Question Number : 71 Question Id : 441009129096 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following constitutional provisions provide reservation for Scheduled Castes (SC) and
Scheduled Tribes (ST) in India?

1.Article 15(4) & 15(5) — Reservation in educational institutions.

2.Article 16(4) & 16(4A) — Reservation in government jobs.

3.Article 330 & 332 — Reservation in Parliament and State Legislatures.

4.Article 243D — Reservation in Panchayats.

5.Article 325 — Reservation in the Election Commission.

Options :

1.9 1,2, and 3 only
2. % 2. 3, and 5 only
3. % 1,3, and 4 only
4. % 1,4,and 5

Question Number : 71 Question Id : 441009129096 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2rSESTF0S 28D Boeren (SC) SNB5N BT SBiex (ST) Fo 8238 2D )03
0235005 Q20O NE?

1. e9OEB0 15(4) & 15(5) - DTS OIS B23B LAD.

2. OSSO 16(4) & 16(4A) - |26 ¢ &EsTrOS’ 8238 $A.

3. O3B0 330 & 332 - FPTR0ES NEASN T3 TS5 8238 §AD.
4. ©9EEGEEI0 243D - HOTTONSB O B23B §A.

5. 9SS0 325 - D) EO EASS’ 8238 $AD.

Options :

1.9 1,2, 08050 3 3¢
2. % 2,3, 00050 5 (b
3. % 1,3, 00050 4 S°(edodd
4. % 1,4, 0005 5



Question Number : 72 Question Id : 441009129131 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding the process of declaring Scheduled Tribes in India:

1.The President can, by public notification, declare any tribe as a Scheduled Tribe only after consultation
with the Governor.

2.The President can modify the list of Scheduled Tribes from time to time based on the advice of the
Council of Ministers.

3.0nly Parliament has the power to make changes to the list of Scheduled Tribes.

4.0nce a tribe gets Scheduled status, all its members across the nation automatically receive the benefits
of this status.

Which of the above statements are correct?
Options :

1.¥ 1 and 3 only

2. % 3 only

3. % 3 and 4 only

4. % 1,2,and 3 only

Question Number : 72 Question Id : 441009129131 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2rSESTF0S 208D BN (D830 1DIBAHZ D0D0E0D & (0B 1DEESO™)
5680 0308:

1. 5583166 HONAODS S$T° B TR0 25B0N SEIDTAS & $T° T BHD
085O BHT (DEE301IIT0.

2. 300( 0B HET TIPSO T2 ST LSS BEed 23°Des )
DB0TINN).

3. AT BN 2DBS’ TSN TR OSSO0 FT0ENZ S50 GOENOL.
4. 2,8 BBBO 0TSO T ©DODS 07 eh, TTETENOM €d) TR D250 Er s
TP (OB IPOD O SODOTIOEONT POLNT .

D DEYS), 1DEEIOS’ DB DD?
Options :

1.¥ 108050 3 S0°(ehadd

2. % 3 Sr(hedd

3. % 3 00050 4 S°(ehadd

4. % 1,2, 08050 3 S0°(edad

Question Number : 73 Question Id : 441009129215 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Indian Constitution defines minorities as:

1.Such religious groups who have less than 10% of the population.
2.Linguistic minorities are those whose population is only 10,000 or less.
3.The Constitution does not define minorities.



Which of the statements given above is/are correct?
Options :

1. ¥ 1and 2 only

2. % 2 and 3 only

3.9 3 only

4. % 1,2,and 3

Question Number : 73 Question Id : 441009129215 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2S¢ Toes 50090 83 Rer B sDODOL:

1. 3077 10% S0 530265 €55) s0eh Horeren.

2. 27%r orOe3en 0T 10,000 S @0SE0T 550) 0 238 €S .
3. O°23S000 Rr8e3ed B £DOTITCE.

288 AN DB HTIQ/D DE/D?
Options :

1. % 108050 2 S°(dad

2. % 2 00050 3 Sr(bad

3. ¢ 3 S (hodd

4.% 1,2, 0805 3

Question Number : 74 Question Id : 441009129230 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding minorities in India:

1.0Only religious minorities have the right to establish institutions to protect their culture.
2.Religious minorities are defined under Article 350A of the Indian Constitution.
3.Religious minorities have the right to establish and administer educational institutions.
4.Minorities have the right to spread their religion.

Which of the statements given above are correct?
Options :

1. % 1and 2 only

2. % 3 and 4 only

3. % 2and 3 only

4. % 1,2, and 4 only

Question Number : 74 Question Id : 441009129230 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2r3STF0S” r8e3er51 H00HOD &8 (§0d (HELIOX H8IO0H0A:

1. SIS O3B ST 38 N0 9B ST ITIE HODOL FDOT
J°HY GOA.



2. 28¢5 TS0 eOEBEI0 350A [5G0 SIS B3 DB SO .
3. SBIERD rBE3OZ0 DTy DOV TR0 ABLFOT TE) GO
4. @W@éﬁ)m 0 T) LN T oTEVY GOA.

208 AN DB HTI DD?
Options :

1. % 100050 2 Sr(ebad

2.9 3 00050 4 S (b

3. % 2 00050 3 S°(ehodd

4. % 1,2, 08050 4 5575

Question Number : 75 Question Id : 441009129250 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding minorities in India:

1.The President of India has the power to declare any community as a minority.

2.Article 29 provides protection to both religious and linguistic minorities.

3.The National Commission for Minorities was established under Article 350B of the Indian
Constitution.

4.0nly linguistic minorities are recognized under the Indian Constitution.

Which of the statements given above is/are correct?
Options :

1. % 1 and 3 only

2.9 2 only

3. % 2 and 4 only

4. % 1,2 and 3 only

Question Number : 75 Question Id : 441009129250 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2rES$T30° 8350 H020E0DS &t (OB (DEESOD HE8BO0H0G:

1. 23565 Tl ADNE ) ST T O3 (H8¢30T 0OTE0 0.

2. ©9OEBEI0 29 DSHERVD DO 2FLHNE RS orBe3Bd S50 EOIN0A.

3. 2756 oS00SR e0OEBEI0 350B 80CS 23°e30H 030 EMAS FD0TIDEOE.
4. 23755 T°2SOM0 |DSPS0 TSRS ordeden Sr(edsd HBotdeacseaw.

28 AN DB HTIE/D DE/D?
Options :

1. % 1080503 S|

2.9 2 S (had

3. % 2 00050 4 S°(eh o

4. % 1,2, 08050 3 Soe(ehad



Question Number : 76 Question Id : 441009129263 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements — Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:

Assertion (A): Fundamental Rights are available to each and every single citizen of India despite their
profession and duty to the nation.

Reason (R): They are justiciable, and the Supreme Court is the protector of them.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A

2. % Both A and R are true, but R is not the correct explanation of A.
3.9 Alis false, but R is true.

4. % A s true, but R is false.

Question Number : 76 Question Id : 441009129263 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

QILIFEN : AB)Ed °ES0 (A) QDB SPGB0 (R) Q) 93 5206 BOCR (DFEISEHL
HOVOHOD OB DS, DOTNEOR:

Db °E S0 (A) : 2PSSTIFO TBNEY, (DD DBEGRE a3°0 39 0BT TFO D& DS
€505).9)¢38 (B NE T2E00 @002’ G oW,

528690 (R) : 9 °SONDNTID 08350 N[O a3¢38 38 Nod.

Options :

1. % A B0 R BOGB® 6550, 0850 R @O A 8 OB De38ea.

2. % A X850 R BOKT He550, S°Q R 93 A 8 OB DdBed 5°¢.

3. ¢ A @050, 5°Q R DebS0.

4. % A D50, 5°Q R @906550.

Question Number : 77 Question Id : 441009129283 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements — Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:

Assertion (A): A state government cannot impose a tax of more than ¥2500 on any person for a
profession.

Reason (R): The Constitution of India, under Article 276, limits the power of the state government in this
regard.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. % Ais false, but R is true.

4. % A s true, but R is false.

Question Number : 77 Question Id : 441009129283 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



QrLIden: D) S50 (A) SDEAW 5°BEI0 (R) @ 5 50ES BOCK 1053
HOVOHOD OB DS, DOTNEOR:

D) °E S0 (A): 2.8 U7 2925065 50 208 $9€ TR0 & 58 200° 22500 0T DB D)
DEOON.

52890 (R): 27°0¢d T°23§0050, @9QEBEI0 276 (05°B0, &3 DACHOS’ O 102065 §
OS50 DOAB0 TYROA.

Options :

1. ¥ A DO R DO 06550, 08O R @A A 8 OB De38ea.

2. % A OO R BOK 0¢850, 5°Q R @R A 8 OB Deded 5°¢0.

3. % A 06550, 5°Q R Db 50.

4. % A D50, 5% R @90¢550.

Question Number : 78 Question Id : 441009129288 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements — Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:

Assertion (A): Grants under Article 275 are charged upon the Consolidated Fund of India.

Reason (R): The amount is determined by Parliament for those states that need assistance.

Options :

1. % Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. % A s false, but R is true.

4. % A s true, but R is false.

Question Number : 78 Question Id : 441009129288 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

QPISeN: AF)ed I°ES0 (A) QDB B0 (R) €9 QI 2GS BOC (DEESHBL
H020H0D DB DAY, JONToR:

N2)eb E S0 (A): ©HESEI0 275 8085 (MOLY 23S s HOE3ed AOETIOTBE Ho&
& QOAAST) ) DAEeN TONV BT OW.

52890 (R): OIFAN0 €953OE R T°al©Z0 PG RO0EN JNTR), AQONR 0.
Options :

1. ¥ A D8O R BOT Oeb50, 0800 R 93 A 8 0B DdBea.

2. % A B0 R BOGY 0¢850, SR R @9 A 8 OB D3G5 5.

3. % A 050, 5°Q R DebS0.

4. % A D650, 5°Q R @9¢550.

Question Number : 79 Question Id : 441009129295 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements — Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:

Assertion (A): Money from the Contingency Fund of India can be withdrawn without prior approval
from Parliament.



Reason (R): The Contingency Fund of India is an imprest fund at the disposal of the President for
meeting unforeseen expenditures.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. % Ais false, but R is true.

4. % Both A and R are false.

Question Number : 79 Question Id : 441009129295 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

QrIEN: QB 7SS0 (A) DO S°BEI0 (R) @ Red S22 BOC (205N ED
HOVOHOD OB DS, DOTNEOR:

D)5 7850 (A): 23785 E0E30BD) HOE(9555E JE) O ¢5200)0 P DOED
SN0 @0 BHOER &GONOITEOTNESITR)).

57390 (R): 23°3¢% E0¢30Z ) AQ(9¢5 5308 ) T E33r0tIQ DB IO 80N
TN S5 &) RO(DR AE.

Options :

1. ¥ A DA% R BOCT Oeb50, 0800 R 93& A § 0B DdBea.

2. % A S8A% R BOGY Hev50, 5P R @9 A 8 OB Ded&ed 5°6%.

3. % A 06550, 5% R Db 50.

4. % A 0805 R BOGYy @0eb50

Question Number : 80 Question Id : 441009129307 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements — Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:

Assertion (A): The Chairman of the State Public Service Commissions can hold office for 6 years or until
62 years of age, whichever is earlier.

Reason (R): As per the Constitution of India, the term of the State Public Service Commission Chairman
is 6 years or until attaining the age of 62 years, whichever is earlier, ensuring a fixed tenure.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A

2. % Both A and R are true, but R is not the correct explanation of A.
3. % Ais true, but R is false.

4. % A is false, but R is true.

Question Number : 80 Question Id : 441009129307 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

390 : 80 (%) BOCH (DEEISEN GBOETOW - DB S0 (A) DO 530 (R).
180 X508 SRS 0D IFR), DOTNTIRO0 37 507 (%) B0 DTG0 RS S06:

D35 850 (A) : TR DT DB EAN BB 6 D058 YT B 62 D058 YTred
SO SSBBD, DE SN0 LONB 9 SBFY DAV E0CHITN)).

52390 (R): 2°8¢% 0727050 (5750, U7 9DT 0850 EMAS TSR DRSO 6



0SS YT B 62 D05 YT AN Y I SBE, VA SN0 oNS e 28 ek
DADErIE T RN,

Options :

1. ¥ A DO R BOGY O¢550, R @90 A § OB Daoddea.

2. % A DO R BO&Y 0¢550, R @D A 8 OB 038 5°C0.
3. % A D50, 5°Q R €906550.

4. % A 0550, 520 R Deb30.

Question Number : 81 Question Id : 441009129316 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements — Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:

Assertion (A): Any amendment affecting the distribution of legislative powers between the Union and
States requires approval from at least half of the state legislatures.

Reason (R): The Indian Constitution promotes decentralization of power in the amendment process when
it affects the federal structure and legislative matters.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. % Ais true, but R is false.

4. # A s false, but R is true.

Question Number : 81 Question Id : 441009129316 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
3290 : 80 (%) BOCH (DN BOETOW - DB S0 (A) DO 530 (R).
180 @528 SRS 0D IFR) DOTNE RSB0 T3 50° (%) B0 DTG0 QS S0

DB E0 (A): SO, TAF® oGS TS AT HONEI (D2FPAHO T o
D3B3 A0 K50 T°la) B8 e3RT0 €93030.

SPBE90 (R): D3P § DT°E90 sDOAN B2 QAT (D2TRB0 T30 )CR S eh
02325000 3569 (DBONES’ @0HFS DTO(DESEID (865 Yoo,

Options :

1. ¥ A D8AN R BO&y 0¢850, R @D A § OB Dadded

2. % ANBAN R BOC” 0550, R NI A 8 OB D38 5260

3. % A D650, 5°Q R @9d¢$50

4. % A 06550, 5°Q R Oeb50

Question Number : 82 Question Id : 441009129332 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements — Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:



Assertion (A): Amendments to Article 82 require the approval of at least 50% of the states as per the
Indian Constitution.

Reason (R): The Constitution ensures a balance between centralization and decentralization by requiring
state participation in certain amendments to prevent excessive parliamentary control.

Options :

1. # Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. % Ais true, but R is false.

4. ¥ Ais false, but R is true.

Question Number : 82 Question Id : 441009129332 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2390 : 80 (%65 BOCH (DI GOETOW - DB S50 (A) SHOAN 530 (R).
180 2552088 SRS 0D IF) DOTNTIRO0 37507 (%) B0 DTG0 RS S06:

DB)b 7850 (A): @OEB0 82 DIBEIDOZ 23°8¢b T7237 5050 (95750 ED0 50% O
B30°00 @9IN0.

55690 (R): @9HE FT00EE JOHO(HD ATO0IEIE §) DdSeeeS ool
2R §6050 @3B0 & 0 T2 s0r0 TO|ADEBE HBAN DTOIOEBE S
08325650 AT°EN0H.

Options :

1. % A B0 R BOGY 0¢550, R @90 A § OB Daddea.

2. % A 08A0 R BOCr 0e550, R @ 0E A 8§ OB D38 5°C0.

3. % A D550, 3 R @e50.

4. ¢ A 96550, 2 R De50.

Question Number : 83 Question Id : 441009129340 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements — Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:

Assertion (A): The process of amending the Indian Constitution is primarily centralized, with minimal
involvement of state legislatures.

Reason (R): Most constitutional amendments can be passed by a majority in Parliament without requiring
the consent of half of the states.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. % Ais true, but R is false.

4. % A s false, but R is true.

Question Number : 83 Question Id : 441009129340 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



390 : 8o 5% BOCH (DEEISEN GOEFOW - DB S0 (A) DOAN B0 (R).
180 @5523¢8 SRS Y5, DOTNERG0 T° ST D% 80 D530 A5 508!

QB 850 (A): 23°Ged T2 50T, DB0T (BN (PP E0MT Zo(QEd
EOEN0R, U7 TN (D00 B0 EOLNOA.

2890 (R): T T°23°$0 O3B K0 T ol Dadged @S0 SHrom s
FOD0ENS’ 283 IBFE0TISTR..

Options :

1. ¥ A8 R BOr 0¢850, R @90 A 8 OB ade9.

2. % A NOAM R BO&Y O¢550, R @D A 8 OB 038 5°C0.
3. % A D550, 5 R @0e550.

4. % A 9050, 5 R Oeb50.

Question Number : 84 Question Id : 441009129358 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DIRECTIONS: The following question consists of two statements - Assertion (A) and Reason (R).
Answer the question by selecting the appropriate option given below:

Assertion (A): The 27% reservation for the Other Backward Classes (OBC) was provided by the 47th
Amendment of the Indian Constitution during the Janata Government.

Reason (R): The Mandal judgment approved this reservation but imposed a total 50% ceiling on
reservations.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. % A is false, but R is true.

4. % A s true, but R is false.

Question Number : 84 Question Id : 441009129358 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
QIS : 80O 1H¥)ES” BO (DEEINEN GOEToN - DF)S 550 (A) HOTH 5°8€0 (R).
B0 2552088 SRS 0D IF), DOTNESB0 3707 (%) B0 DTG0 RS 06

QRIS FES0 (A): BIT® (D205 § STAT0ES’ 23S e Toes*s080 4755 DedBea T ST° ReHS
FEDAS SBKOE0 (OBC) 27% 823D 5 O )oH2R308.

SPB€0 (R): sDOHS €335 &2 823 LA eIDFE0DIN)EIE 8238 03 IS0 50%
HBAE DEODOA.

Options :

1. % ANOAW R BO&Y O¢550, R @D A 8§ OB dod8ea.

2. % A DO R BO&Y 0¢550, R @D A 8 OB D389 5°C0.

3. ¢ A 06550, 520 R 068 50.

4. % A D650, 5°Q R @90¢550.



Question Number : 85 Question Id : 441009129394 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
Match the following features of the Indian Constitution with their correct corresponding parts/articles

Features Articles/Parts
Bicameralism Part XVIII
Emergency Process PartV
Welfare State Part IV
Single Citizenship Article 9
Options :

1. % 1-A, 2-B, 3-C, 4-D
2.¥ 1-B, 2-A, 3-C, 4-D
3. % 1B, 2-C, 3-A, 4-D
4. % 1-C,2-D, 3-B, 4-A

Question Number : 85 Question Id : 441009129394 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2S¢ Toes 5006 &8 1808 OFEFO 57¢3 DB D00 23 TTe/OS ST
2S5HTONOR.

©§ garen @ESHETEN /23PN
8§02 0 2050 XVIII
55908 (8D 2rtio V
B3ror350 250 IV

2B SO 50 0HEB0 9

Options :

1. % 1-A, 2-B, 3-C, 4-D
2.¥ 1-B, 2-A, 3-C, 4-D
3. % 1B, 2-C, 3-A, 4-D
4. % 1-C,2-D, 3-B, 4-A

Question Number : 86 Question Id : 441009129449 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
Match the following features of the Indian Constitution with their correct corresponding articles/parts:

Features Articles/Parts

Secular State Preamble & Articles 25-28
Rights of Minorities Articles 29-30

Protection to SC/ST in Legislative Representation |Articles 330, 332
Universal Adult Franchise Article 326

Options :

1.¥ 1-A, 2-B, 3-C, 4-D



2. % 1.B,2-D, 3-A, 4-C
3. % 1.C,2-D, 3-B, 4-A
4. % 1.D,2-C,3-B, 4-A

Question Number : 86 Question Id : 441009129449 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2S¢ Te32505065° & (80 ©F 772 3°¢3 DB D00 OOESETEN /27O 8HTTON0K:

g sFren @ EBN0 2rTreN

3°8% Tress0 8% & e9OEBTEe)) 25-28
83 FPEveN oOESeTen 29-30

TS (PRG0S ), IVOK S oOESeTen 330, 332

PO 538 SO B 2,80 PV OEGeTEeN 326

Options :

1. 1-A, 2-B, 3-C, 4-D
2. % 1.B,2-D, 3-A, 4-C
3. % 1.C,2-D, 3-B, 4-A
4. % 1.D,2-C, 3-B, 4-A

Question Number : 87 Question Id : 441009129483 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
Match the following features of the Indian Constitution with their correct corresponding articles/parts:

Features Articles/Parts

Extent of laws made by Parliament Article 245

Residuary powers of legislation Article 248

Inconsistency between laws made by Parliament and l&dislatdfes of States
Relations between the Union and the States Part XI (Articles 245-263)
Options :

1.¥ 1-A, 2-B, 3-C, 4-D
2. % 1.D,2-A, 3-B, 4-C
3. % 1-C,2-D, 3-A, 4-B
4. % 1.B,2-C, 3-D, 4-A

Question Number : 87 Question Id : 441009129483 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2S¢ T2 505065 & (80 ©F 7 7¢3 DB HD0DOES OSSN/ 3STAN0:

8 sren QS OET /2T

TPOV0EN DI T HOH HEBE0 245

D0 AEY WADS TN OOEB0 248




TPORV0LD, T BTSN TIS WG G IS0 254

30(8, T°lare® 0 DODOGTEN 250 X1 (9HEB0 245-263)

Options :

1. ¥ 1-A, 2-B, 3-C, 4-D
2. % 1-D, 2-A, 3-B, 4-C
3. % 1-C, 2-D, 3-A, 4-B
4. % 1-B, 2-C, 3-D, 4-A

Question Number : 88 Question Id : 441009129782 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Match the Following

List-I (Provision Type) List-Il (Relevant Articles)
1. Political Safeguards A. Article 244

2. Social & Educational Safeguards B. Article 16(4) & 16(4A)
3. Economic & Employment Safeguards C. Article 330 & 332

4. Special Provisions for Scheduled Tribes D. Article 15(4) & 15(5
Options :

1.¥ 1-C, 2-D, 3-B, 4-A
2. % 1.D,2-C, 3-A, 4-B
3. % 1-B,2-A,3-D, 4-C
4. % 1-A,2-B, 3-C, 4-D

Question Number : 88 Question Id : 441009129782 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

&3 808 °¢3Q 235OHOR

2D E-1 (20058 S50) 2P)T®-2 (D0VO0ES OEGTeN)
1. o°e380% SE.aen A. O3S0 244

2. FB7e3E OO g B en B. ©0533£90 16(4) & 16(4A)

3. 0% B G SE.eaew C. @5H3B0 330 & 332

4. 08559 BEOB (D858 d0BIen D. ©HES0 15(4) & 15(5)

Options :

1.¥ 1-C, 2-D, 3-B, 4-A
2. % 1.D, 2-C, 3-A, 4-B
3. % 1-B,2-A, 3-D, 4-C
4. % 1-A,2-B, 3-C, 4-D

Question Number : 89 Question Id : 441009138766 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Mr. X went on a hunger strike to demand the creation of India's first state based on language. What was
the name of Mr. X and the state formed?

Options :



1. ¥ Potti Sriramulu — Andhra Pradesh
2. % T Prakasam — Andhra Pradesh
3. % Pattabhi Sitaramayya — Telangana

4. % Tanguturi Prakasam — Rayalaseema

Question Number : 89 Question Id : 441009138766 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2 BSEIBOTT 23S HTIF ) DNEIRNCIES TR, DTYEN TDAITO BSOS T (B . X
QTS B TS, €813 . X DB DES 508050 & TR0 B IBOE?

Options :

1. ¢ e3 1RT e - e0(S(DTT

2. % T, |05°%0 - 0| Q0DTB

3. % HEPE) DT THONS - BOOMTED

4. % 0TS (DSPF0 - TONOVD

Question Number : 90 Question Id : 441009248595 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

7. In the context of Fundamental Duties under the Indian Constitution, which duty most directly
contributes to promoting social welfare and protecting weaker sections, including Scheduled Tribes?

Options :
1. % To uphold and protect the sovereignty, unity, and integrity of India

2. ¥ To strive towards excellence in all spheres of individual and collective activity
3. ¥ To promote the spirit of fraternity and common brotherhood

4. % To safeguard public property and avoid violence

Question Number : 90 Question Id : 441009248595 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2355 T7er 5060 (DSSE0 [PHNE DN HOSEYO, O DB Frdre8s H0T.S5Y

1865 1208 S0BC3N ETLD SBiHen T 2O ST B8 0TS (DedsE o
SRS 0E?

Options :

1. % 2385538 S 525 e0&° L), 908565030 a0 a5 STalCHEI0 $30BA5W
B8 0dc%0

2. % 55855 OO PIrerE SEsEerare Somredd) 0¢3eS” T30t Sya) OO
3.9 QPOB2700 DB AN oG PG YO (8P Yar0dCo
4. % (5239655 3D STPCHCH0 DO a0 AB0TIC0



Question Number : 91 Question Id : 441009248606 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

8. Which of the following Fundamental Duties directly supports the constitutional objective of
promoting social justice and equality for weaker sections such as Scheduled Tribes?

Options :
1. ® To safeguard public property and avoid violence

2. % To strive towards excellence in all spheres of individual and collective activity
3. % To respect the cultural heritage of India

4. ¢ To promote the spirit of fraternity among all citizens

Question Number : 91 Question Id : 441009248606 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

TS BN S0 OIS ITOE AT T°SON0 sNBAW HSTIE* ) (8¢5 yorod
T°2 500 558 1808 [PAE NS DB (He55E 0 HASIAN0E?

Options :

1. % (025965 ¢ @30 STl CH0 $DBAN a0 AB0TIC0

2. % 55855 OO Frers SEsEerare Soredld) 0e3eSdr oreod @8 Sy
nfer\ete)

3. % 2rEB3% P08 PEIER ) FEN0I0
4. ¢ EO0R0S Freredyes ¢ )0 DOFO0IB0

Question Number : 92 Question Id : 441009248631 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

9. The Fundamental Duties laid down in the Indian Constitution promote the idea of social justice and
equality. Which of the following duties, in the context of Scheduled Tribes, aligns most with the
constitutional principle of protecting cultural diversity while promoting national integration?

Options :

1. ¢ To preserve the rich heritage of our composite culture
2. % To develop a scientific temper, humanism, and the spirit of inquiry
3. # To protect and improve the natural environment

4. % To promote harmony and the spirit of common brotherhood

Question Number : 92 Question Id : 441009248631 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2S¢ 0o 50506 DBDB0TIDAD [FPAE DE0EN 38 000 0B8N HSTdeh 0
29 B3STIID (85 )TN, BT Biie) DOEI0S, 180B DS 2 aH
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Options :

1. ¥ 308 FD 00D eed AINE)Y, ) 05, STareE IS0

2. % %"Lf’goﬁa B98N, SPNTITIA)), DS ° )8 DOFOE0TIEC0
3.8 352 DUCEIGTR) HDOBE 0D, BBNIOBIC0

4. % P08, QDB €50 PG )8R |88 )ar0d o

Question Number : 93 Question Id : 441009248863 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

When was the first time that reservation was introduced in India in favour of non- Brahmins and backward classes
in matter of education?

Options :
1. % 1910

2. % 1919
3.9 1902

4. % 1909

Question Number : 93 Question Id : 441009248863 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2P BBTFOCS |27 T HBEN 0O FHERRS SBH8IZ D5 VNACHOS’ B23T S
[N DY D38 DD AN?

Options :

1. % 1910

2. % 1919
3.9 1902

4. % 1909

Question Number : 94 Question Id : 441009248873 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
Which article of the Indian constitution abolished untouchability?

Options :
1. % Article 11



2. % Article 17
3. % Article 29

4. = Article 12

Question Number : 94 Question Id : 441009248873 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

255 072505063’ &) 9AEBE0 90T G, SV TOOE?
Options :

1. % 08800 11

2. ¥ &880 17
3. % @908890 29

4. % 98850 12

Question Number : 95 Question Id : 441009248876 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
Which article of the Indian constitution specifically a fundamental right that protects cultural rights of the people?

Options :
1. = Article 14

2. % Article 25
3. % Article 30

4. % Article 29

Question Number : 95 Question Id : 441009248876 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

255 0725050 &) OOEBEI0 (DB 0N HBE sTEL O (DB SEOMP 208 (BFPHNE ToE0y
HBBE Ho&H?

Options :

1. % 58890 14

2. % 90880 25



3. % 58890 30

4. ¥ 5850 29

Question Number : 96 Question Id : 441009248880 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The 42nd amendment to the constitution made changes to preamble of Indian constitution. Which of the
following is not the word that was added to the preamble?

Options :

1. ¥ Secular
2. ¥ Fraternity
3. % Integrity

4. % Socialist

Question Number : 96 Question Id : 441009248880 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

4285 TP 500 DG T3 ST 2305 ¢h T3S0 DBEES 552500 DONVFT AW, (§od ¢3S’
DOES’ TEI D0 E?

Options :

1. % 3°8%

2. ¥ 7 2rd95 SO

3% Dol

4. % Jr§C

Question Number : 97 Question Id : 441009248882 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Fundamental duties of Indian constitution is based on recommendations of which of the following
committee?

Options :

1. ¥ Rangarajan Committee
2. % Narasimham Committee
3. % Verma Committee

4. ¥ Swaran Singh committee

Question Number : 97 Question Id : 441009248882 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

230585 072 S0B0ES ) (FPHME DN (80 ) EE3 DIFPSEIOD STSIE o) ON?
Options :

1. % Soforas Ees



2. % 380570 E0ed
3. % 5 E0¢3
4.9 555 oh E¢d

Question Number : 98 Question Id : 441009248889 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The 11th fundamental duty of the Indian constitution was added in which year?
Options :

1. % 2002

2. % 2005

3. % 2010

4. % 1975

Question Number : 98 Question Id : 441009248889 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

255 072 SO0 115 [PEHE DA & HOSB B0 B )07
Options :

1. ¥ 2002

2. % 2005

3. % 2010

4. % 1975

Question Number : 99 Question Id : 441009248893 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What is the full strength of the Lok Sabha of the Indian Parliament?
Options :

1. % 550

2. % 560

3.9 545

4. % 530

Question Number : 99 Question Id : 441009248893 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

27565 FTR0EN SENES 58 H2N5E HOWS DOES?
Options :

1. ¥ 550

2. % 560

3.9 545

4. % 530



Question Number : 100 Question Id : 441009248897 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following is not impeached by the Parliament directly?
Options :

1. ® President

2. # Election Commissioner

3. % Judge of High Court

4. % Governor of a state

Question Number : 100 Question Id : 441009248897 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

1B0& 86, FTR0EN JEP IO 98)F00NNS0?
Options :

1. % ooladed

2. % Q&S 8§00

3. % 38 50008

4. ¢ 2,8 07 5380

Question Number : 101 Question Id : 441009248898 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

How many members of the Rajya Sabha are nominated by the President?
Options :

1. * 10

2.¥ 12

3.% 20

4. % 02

Question Number : 101 Question Id : 441009248898 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

02359256 T3 D0HN0E 2N TP TRSY?
Options :

1. % 10

2.9 12

3.% 20

4. % 02

Question Number : 102 Question Id : 441009248901 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



The membership of the Legislative Council in the state legislature shall not be less than?
Options :

1. ¥ 40

2. % 30

3.% 10

4. % 20

Question Number : 102 Question Id : 441009248901 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

T3 TS B0 0BE 2556550 JOHE $50)65 EOCETCD?
Options :

1.9 40

2. % 30

3.% 10

4. % 20

Question Number : 103 Question Id : 441009248910 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Judicial Review is NOT enshrined in Indian constitution under which of the following article?
Options :

1. ¥ Article 13

2. % Article 32

3. % Article 225

4. % Article 226

Question Number : 103 Question Id : 441009248910 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

25e Toes 5006 A% DS, 180B ) 9BEBEI0 T ST° FPOLNNETIDBS0?
Options :

1. % 88890 13

2. % @880 32

3. ¢ O8G0 225

4, % 980580 226

Question Number : 104 Question Id : 441009248914 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which schedule of the constitution allocates powers between states and center?
Options :

1. # Third schedule



2. # Fifth schedule
3. % Seventh schedule
4. % Eleventh schedule

Question Number : 104 Question Id : 441009248914 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

025060 &) ETPSS TS, T AT S QST TETFONNOE?
Options :

1. # 0095 CrsS

2. % 500565 CrsSO
3. ¢ Q8 TS
4. % HAT0CHS AErEO

Question Number : 105 Question Id : 441009248917 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is not in the Concurrent list of seventh schedule of the constitution?
Options :

1. ¥ Education

2. % Trade Unions

3. ® Transfer of property other that Agricultural Land

4. % Ports

Question Number : 105 Question Id : 441009248917 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

1808 ¢3S, 57232505065’ oS BTS TBNE), G DTS BIAA IA?
Options :

1. % D5

2. % | B& 0500

3. % J5SPADH I SHOE VBE e OO

4. ¢ 8,650

Question Number : 106 Question Id : 441009248921 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Who has Residuary powers to legislate on matters not present in the three subject lists dividing powers
between states and Centre?

Options :
1. % Only Union
2. % Only states



3. # President with suggestions from Prime minister and council

4. % Both Union and state legislatures

Question Number : 106 Question Id : 441009248921 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

T[T D8G50 TOEI0 0§ OEST D D2SR0T I DA0H D& S
0T 2 TR0 BONTRE @953 9OSTEN )IO8 o) ON?

Options :

1. ¢ 30|78 S50°(¢dad

2. % Ol e8 S°(edadd

3. % D500 BN TS IS T e

4. % Z0(¢5 OO T BN BO®

Question Number : 107 Question Id : 441009248925 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Originally in India, the election commission had how many election commissioners?
Options :

1. ¥ One

2. % Two

3. % Three

4. % Five

Question Number : 107 Question Id : 441009248925 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

TS0 2rESHTIOS, DY E HONTIE DOHN0E D ES EAND OB E?
Options :

1. ¥ 2,8%

2. % 0%

3. % J0Hd%

4. % 200MH%

Question Number : 108 Question Id : 441009248931 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The election commissioner has a tenure of how many years in India?
Options :

1. ® Four

2.9 Six

3. #® Five

4. % Three



Question Number : 108 Question Id : 441009248931 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2rGESTIOS DAL E EASD DADT0 A DO T EN?
Options :

1. # e

2.¥ &%

3. % 2

4. % 00

Question Number : 109 Question Id : 441009248933 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Who became the first Indian Auditor General of the independent India on August 15, 1948?
Options :

1. ¢ Shri V Narahari Rao

2. % Sunil Arora

3. % Shri Rajiv Kalyan Kumar

4. % S.P Sen Verma

Question Number : 109 Question Id : 441009248933 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

309D 15, 19485 D550(5 2P SSTFTIL BCIES 27 B30 SGED 35BS 3
QAN AIFPE?

Options :

1.¥ 13 Q SE58 T

2. % QS 980

3. % (3 0rdS $orsed §0535°0
4. % Q.. D 3G

Question Number : 110 Question Id : 441009248945 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following Articles of the constitution elucidates the legislative relations between states and
the Centre?

Options :

1. # Article 230 to 235
2. % Article 245 to 255
3. % Article 200 to 205
4. % Article 202 to 232



Question Number : 110 Question Id : 441009248945 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

02350003’ 1808 0OESETS” T el HOAN SO0 S TS D00
DIREBONIE VE?

Options :

1. ¥ @©358en 230 0 235 S350
2. ¥ @SN 245 DOEG 255 SO
3. % @58en 200 0E 205 SBB
4. % ©OSTEN 202 O 232 B8

Question Number : 111 Question Id : 441009248947 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Mark the incorrect option with respect to the President’s rule in an Indian state.

Options :

1. # The President's rule is imposed under powers conferred by Article 356 of the Constitution

2. % Article 355 imposes a duty upon the Centre to ensure that all state governments in India function
under the provisions given in the Constitution

3. % The state will be administered by the Governor on behalf of the President.

4. ¥ The central cabinet passes the state bills and budget when the legislative assembly is suspended or
dissolved under the President's rule.

Question Number : 111 Question Id : 441009248947 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
2rESTBFOS'Q 2.8 TR0 T RIS FOIZ0 H00EH0D) HOT DRI, 98008,
Options :

1. % 0r2 506065 QB0 356 T3°S0° BD)S AT T® (DGO T DI TS
DOV OA.

2. % r3STI0S @) TR (DeheE® 50 0725080 A ) D220 (D5°80
DT LN Y& 2575585 00 EEBEI0 355 DENOA.
3. % O°(alQ), O°laded 8D (13810 DOFOIT .

4. ¥ 07 QD TS 808 TN H)0E TANDAIN ) Bea® B TOHDRY)IERD
Z0(8 003580 T DEVEN OO DTFE D SRITENOH.

Question Number : 112 Question Id : 441009248950 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The power of the Supreme Court to decide over the disputes between centre and states is known as?
Options :

1. # Territorial Jurisdiction

2. #¥ Concurrent Jurisdiction

3. % Original Jurisdiction



4. % Special Jurisdiction

Question Number : 112 Question Id : 441009248950 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

30(85, TaF® 88 DO DBNZB0T NDOEDES §e) BT DeD0ETE?
Options :

1. % BBEBOHS 2580E S

2. % 5208306 2875808

3. ¢ 2,083 275008 &

4. % )0 23750088

Question Number : 113 Question Id : 441009248954 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Rajamannar Commission (1969) was appointed by?
Options :

1. ¥ DMK government Tamil Nadu

2. ® Congress government at the Centre

3. #% Ministry of Home affairs

4. % Communist Party of Kerala

Question Number : 113 Question Id : 441009248954 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

T°23607°) O EAN (1969) oI QO OTIEN?
Options :

1. ¥ ST RS BIOT (D256 50

2. % 30(S0SQ 50(R 120 S0

3. % U 953e3PT o0\ e36b § 3D

4. % 33 E30rsAR @

Question Number : 114 Question Id : 441009248966 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Rajamannar Commission (1969) consisted of how many members?
Options :

1. # Four

2. % Five

3. % Two

4. ¥ Three



Question Number : 114 Question Id : 441009248966 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

T°23600°) 8 EAS (1969)S° D05DO0E D2V Erroe) B2
Options :

1 # dexnrhd

2. % 0N

3. % 0%

4. ¢ S0HS%

Question Number : 115 Question Id : 441009248971 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The constitution of India can be amended as per which of the following Article?
Options :

1. # Article 330

2. ¥ Article 368

3. % Article 14

4. % Article 160

Question Number : 115 Question Id : 441009248971 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2865 072350, 180A & @9HEGE0 (DFH0 DdB0INTDY?
Options :

1. ¥ &880 330

2. v OEH0 368

3. % 08800 14

4. % 8880 160

Question Number : 116 Question Id : 441009248978 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
Mark the incorrect option in context of recommendations given by Balwant Rai Mehta Committee
Options :

1. # The need for democratic decentralization and its relevance for rural reconstruction and
development

2. % The need for statutory support to people’s representations at the local level
3. # Genuine transfer of power and responsibility to the local level

4. % To establish a 2 tiered/layered Panchayati Raj system

Question Number : 116 Question Id : 441009248978 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33



20 50 T°O% oT& EES YIS DB IO HDOSEIOS 559) DR IT), H80N0d.
Options :

1. % [Ta069 )0 T30 DO @D NO8 15257 505 DTODEBED €835 585 AW
Q) (2% 0 §e5

2. % 8 oS’ 1HBO (FBAGTIOZ DN 0P e950E0.

3. % PE JPONE @OTE0 0B 255 B TS EE)

4. ¥ BOCOTO/BANE HOTTONE T2 535309 DT®IEN OO,

Question Number : 117 Question Id : 441009248983 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Mark the incorrect option in context of recommendations given by Ashok Mehta Committee.
Options :

1. ¥ Recommended two-tier Panchayati Raj system

2. % There is need to have compulsory taxation powers to mobilize local financial resources

3. ¥ The Committee recommended village as the first point of decentralization

4. % Need to develop democratic institutions with periodic elections at all levels

Question Number : 117 Question Id : 441009248983 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

©3°8 e e3 AD)S DIFSEIO H0dS)0SS $5) DDIT) HO0H0E.

Options :

1. % 2% BANDES BOBOTO HOTTONE T 559D

2. % Q8 6388 3B DaEB0IEE 6518 D) OO AT e8:3%58¢h
3. ¢ DT0(QESB I¢H¢3 0FOT (TS S¢S D) TOHhO.

4. % €90 oD 5N DL EDS (D208 DORXOX 98598 TAHEO.

Question Number : 118 Question Id : 441009249010 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Who is authorized to recognize a political party as a national party?
Options :

1. ¥ Election commission of India

2. % Parliament

3. # President
4. ¥ Law Ministry

Question Number : 118 Question Id : 441009249010 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2,8 o380 PO 2300 FOT HBOVETA VSO 9BTBO GOE?
Options :



1. ¥ 252565 DOE.Q ZNAX
2. % OO0

3. % Ooledaded

4. % 7500 oDO( €365 £3°Y

Question Number : 119 Question Id : 441009249014 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following countries does not have a one-party system?
Options :

1. ¥ Cuba

2. # Eriteria

3. ¥ Chile

4. % North Korea

Question Number : 119 Question Id : 441009249014 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

B0 e3¢5, D8 0 5550 B T30 AH?
Options :

1. % §oger

2. % DB|e305(Eriteria)

3. 0O

4. % &S5 TOASY

Question Number : 120 Question Id : 441009249022 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Election Commission of India derives its power from which article of the constitution of India?
Options :

1. # Article 344

2. ¥ Article 324

3. % Article 390

4. % Article 322

Question Number : 120 Question Id : 441009249022 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2565 AALED DONO S ATT' O arSed Toe3*s050 ) & OIS0 0
FOHOL?

Options :
1. % Q8890 344
2. v O8Y0 324



3. % 888890 390
4. % 90880 322

Question Number : 121 Question Id : 441009249024 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following was one of the crucial steps taken by Constitution framers to tackle regionalism
in India?

Options :

1. # Introducing Preamble to the constitution
2. ¢ Introducing single citizenship

3. ® Bicameralism in state legislature

4. % Introduction of Multi-party system

Question Number : 121 Question Id : 441009249024 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2PSESTI0S |F0BONTTT) DO OOIETIL T°e300 AT°2HEN 3 NHS), EOES
25856 180 a¢36S’ 2,8¢3 DE?

Options :

1. % 0723508 DOED DBVAH0 TAHCHO
2. ¥ QE BT DOTIONO TAHO

3. % O7 [ FONNES & 02 D0

4. % 2350 78 5590 HBHAH0 WA ko

Question Number : 122 Question Id : 441009249028 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following was one of the first manifestation of regionalism in India?
Options :

1. # Rise of political party’s post LPG reforms

2. ¥ Demand for reorganization of states on linguistic basis

3. ¥ Demand for President political system during emergency

4. % Rise of ethnic violence in North-East

Question Number : 122 Question Id : 441009249028 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

1B0B 3, 228 TIOS | 0BOHT0 TINE) D0HeS e 55888 DE?
Options :

1. % LPG HOD)S£9e 5T°sed 03805 3O AMHSE
2. ¥ 27T |FPBIOES TaTed HSE 5508805 ASIros
3. % 9655305 DBVRS” Tl T°2380% 955 §90 Bdro&



4. % Sads |I3r0S06S 23263 a0 DB

Question Number : 123 Question Id : 441009249031 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

When was the first time a coalition government was formed in India?
Options :

1. % 1952

2. % 1963

3.9 1977

4. % 1991

Question Number : 123 Question Id : 441009249031 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2rSESTBFOS” IE3T HOEY (525065 50 DI DSHB0E?
Options :

1. % 1952

2. % 1963

3.9 1977

4. % 1991

Question Number : 124 Question Id : 441009249036 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

B.N Srikrishna who headed the committee of experts on Data Protection framework for India, was
previously?

Options :

1. # Chief Election Commissioner
2. ¥ Judge of the Supreme Court
3. % Member of Lok Sabha

4. # Market expert of technology

Question Number : 124 Question Id : 441009249036 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2 BSTF0 TR0 TBEr (TFBES 05553 ADeN® E¢E38 PoDHEH 0 $5570NDS D.DS.
(B8R ROBEL S0OCD 2,8?

Options :

1. % (00 ) 80 E0A0

2. ¢ DO T°50%0505°8

3. % S§°525 20§

4. % B3) 028 3BrEd AN



Question Number : 125 Question Id : 441009249038 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
Srikrishna Committee (2010) was set up for?
Options :

1. # To look into data protection framework
2. ¥ On the question of Telangana state

3. ® Water division between Maharashtra and Gujarat

4. % Security failure in 26/11 terror attacks

Question Number : 125 Question Id : 441009249038 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

(B89 E0¢3 (2010) B §0 JT°)EN BAHDA0E?
Options :

1. % Ter H0BE 0585 HOIO0IEE

2. ¥ B0 BOST|ar8 Ho0H0D

3. % 05507 @ Q08O 023076 o033 230 DI
4. % 26/11 ¢((1e3°CS S’ BT JPDFO

Question Number : 126 Question Id : 441009249041 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Assam Accord, a Memorandum of Settlement (MoS) to address issue of foreigners in Assam was signed
on?

Options :

1. # January 30, 1982
2. % August 15,1971
3. % 26th January 1985
4. August 15, 1985

Question Number : 126 Question Id : 441009249041 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

O YOS DTAANE DD HOALBONTIE O YO 2.0)0SRNES, HOIXL S
20000 (M0S) 2 DOBE0 TWOHDE BE DNe3?
Options :

1. % 233558 30, 1982
2. % e3tfed 15, 1971
3. % 23098 26, 1985
4. v €805 15, 1985



Question Number : 127 Question Id : 441009249042 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

National Socialist Council of Nagaland (NSCN) was formed on?
Options :

1. % January 31, 1980

2. % January 20, 1979

3. # March 03, 1980

4. % March 31, 1977

Question Number : 127 Question Id : 441009249042 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

BASS FADQ TS 689 Ter0& (NSCN) o) JE0 DB)YR0E?
Options :

1. ¢ 2358 31, 1980

2. % 2338 20, 1979

3. % 3°8) 03, 1980

4. % 38 31,1977

Question Number : 128 Question Id : 441009249046 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which commission was established by union government (1983) to examine and review the functioning
of Indian federal system?

Options :

1. ¥ Swaran singh Commission
2. # Punchhi Commission

3. % Kothari Commission

4. % Sarakaria Commission

Question Number : 128 Question Id : 441009249046 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

23585 DTS 9590 HDABBID HOBOOITTAE 0B HWE 0ITTAE ToES (205 50
(1983) & 8IS DTN TOOE?

Options :

1. % 8565 20H AN

2. % HOD ENAS

3. % §5°8 S0

4. v J0° 8 AR

Question Number : 129 Question Id : 441009249049 Question Type : MCQ Negative Marks Display
Text : 0.33



Correct Marks : 1 Wrong Marks : 0.33

Prohibition of Employment as Manual Scavengers and their Rehabilitation Act was passed in which
year?

Options :
1. % 2014
2.9 2013
3. % 2010
4. % 2001

Question Number : 129 Question Id : 441009249049 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

370083 Y 30BN (POHARS 52O IZVEN)T G D20 $NBAM 78 HRT* 3D I&O
Q 5055315065 SIrE0TIDEH0E?

Options :

1. % 2014

2.9¥ 2013

3. % 2010

4. % 2001

Question Number : 130 Question Id : 441009249053 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Pradhan Mantri Anusuchit Jaati Abhyuday Yojna (PM-AJAY)’s objective is?
Options :

1. ¥ Reduce poverty of the Scheduled Caste community through skill development
2. % Reduce poverty of the Scheduled Tribe community through skill development

3. # Reduce poverty of the upper hill community through economic opportunities and development of
infrastructure

4. # Reduce poverty of the OBC community through skill development

Question Number : 130 Question Id : 441009249053 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DT300(3 @907 2373 9255505 A3°23S (PM-AJAY) ©F 50 Da¢3?
Options :

1. ¥ DT DN 3 L0° TS Loered 085 oo

2. % THeT5sDSHB o 50° PO Biie> HXdres0eS w85 $Hotdcso

3. % 308 05530 0B SO DCVFATOD SO T 5T° AN Tk Eorsdeded
2685 $Hodcso

4. % IHeTsDSHE 3 50° OBC Es055d¢3 203852 $Rocdcso

Question Number : 131 Question Id : 441009249055 Question Type : MCQ Negative Marks Display
Text : 0.33



Correct Marks : 1 Wrong Marks : 0.33

Reservation provisions for Backward Class citizens is provided under which article of the constitution?
Options :

1. ¥ Article 16(4)

2. % Article 17 (2)

3. % Article 19 (1)

4. % Article 25

Question Number : 131 Question Id : 441009249055 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

F0E0ES SBHESE FBOZ BBB LAS D20CSeN T°2s050 ) & e0&ES0 80
0 A0NDTON?

Options :

1. ¥ @880 16(4)

2. % 988820 17 (2)

3. % @880 19 (1)

4. % 9880 25

Question Number : 132 Question Id : 441009249057 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Reservation for OBC is based on recommendations of which commission?
Options :

1. # Debar Commission

2. # Nachiket Commission

3. % Kulkarni Commission

4. % Mandal Commission

Question Number : 132 Question Id : 441009249057 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

OBC®E0 8233 2D o) EQAR Dal0I)® eGS0 Ga) ON?
Options :

1. ¥ &25°0(Debar) AN

2. % SOZS(Nachiket) EAS

3. % 0080 AN

4. ¢ 00O ZAQ

Question Number : 133 Question Id : 441009249077 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which type of legislature does India have, where the Rajya Sabha and Lok Sabha together constitute the
bicameral system, which is vital for the enactment of laws for tribal welfare and social protection of



weaker sections?
Options :

1. # Unicameral Legislature
2. ¥ Bicameral Legislature
3. # Federal Legislature

4. % Presidential Legislature

Question Number : 133 Question Id : 441009249077 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2PSESTFOS’ & BES TSNS GOB? BE)C T°235025 BN 75025 ED 2.8 & s>
5590 DB IBED, B8 & 527 9550 AB23S D0T N0 HATIN DOETS ST A3 resE
3869 800 BEFPOR BrFoOONEE Ter SVDEIE.

Options :

1. % D8 303028

2. v 85025 BP0

3. % QP BP0

4. % DATIANSO T80

Question Number : 134 Question Id : 441009249084 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

16.  Which of the following is an example of how judicial review by the Indian Judiciary can be used to
protect the rights of Scheduled Tribes and other weaker sections under the Indian Constitution?

Options :

1. ¥ The Supreme Court reviews laws to ensure they don't violate the Fundamental Rights of Scheduled
Tribes

2. #® The High Courts can independently enact laws for the welfare of Scheduled Tribes.

3. # Judicial review can only be exercised in cases involving taxation laws related to Scheduled Tribes.

4. % The judiciary can only review administrative orders but not legislative laws affecting Scheduled
Tribes.

Question Number : 134 Question Id : 441009249084 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2S¢ Tre3* 00 (DSPE0 TS SBHeN HOAN VHS 267 ST TeE0)D

5P EI8 275 SO0 FPEA DaNE X D ENTTA0NIIS ) 08 (80
T3S’ DO STRFSEE?

Options :



1. ¢ 05O SHE [PONE P03 GOOMOTIZN0E GOTBET THETF DO
DS od.

2. % 2075 B8 H0F 00 FH0 3FEDEN D 550(S0TT tIEFOX EFerod0TISTR.).
3. % 2650 SHOZ H0DOAODND D) IEFE 00BN TS &S57(¢hed
P50 DNE . €900 TANSITR).

4. % 575039695599 DOFOR® €€ £ X7°(933 D 0TIHEED 57 BRSO BN
192750 T BF°OS WEFOR DD 0.

Question Number : 135 Question Id : 441009249106 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

National commission for Backward class is which type of body?
Options :

1. % Statutory Body

2. ¥ Constitutional Body

3. % Extra-constitutional body

4. % Executive body

Question Number : 135 Question Id : 441009249106 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
23°BAH DOEDAES SBHBI ENAS D BEDS H0H?

V.

2. v 0°23P500 QO
3. % ore3esonedd QO
4. % 52550075578 HOQ

Question Number : 136 Question Id : 441009249108 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

National Commission for scheduled caste is created under which article?
Options :

1. ¥ Article 338

2. % Article 340

3. % Article 290

4. % Article 220

Question Number : 136 Question Id : 441009249108 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2305 BT F0ePO EMAS & 9EEGEE0 80 DTN TOHDE0E?
Options :



1. v 8880 338
2. % Q8820 340
3. % 9888890 290
4. % 9580 220

Question Number : 137 Question Id : 441009249110 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

National Commission for scheduled tribes consists of how many members ?
Options :

1. ¥ Chairperson and 4 other members

2. % Chairperson and 3 other members

3. # Chairperson and 10 other members

4. % Chairperson and 2 other members

Question Number : 137 Question Id : 441009249110 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2305 PSS BHE ENASE’ J0HN0E H2NIEN SOEFE?
Options :

1. ¢ TOIE IR 0B 4 N0 RS d2gen

2. % TOIEIN 08AW 3 0O BB dH2vgen

3. % TGN DBAW 10 HOE 1Y H2Hgen

4. % TOIBIQ 0B 2 NOO RS d2hgen

Question Number : 138 Question Id : 441009249114 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
36. Which of the following best describes the impact of regionalism on tribal welfare policies in India?
Options :

1. % Regionalism strengthens centralized welfare policies for tribes.
2. ¥ Regionalism leads to the empowerment of local governance for better tribal welfare.
3. ¥ Regionalism weakens the representation of tribal interests in local governance.

4. % Regionalism has no effect on tribal welfare policies in India.

Question Number : 138 Question Id : 441009249114 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2rSES$T30S AB2S NOF.) AFTTOD (0300 C0(82359230) (Herar) 180
IS’ DE 27T DSBNOE?

Options :



1. % [00DTH0 ABBOOE Bo|BEYS N0T.D AT S 250 TR0,

2. ¥ [ZFOBONTCI0 TS B2 N0F SPAT TS FedE) FESEeS O JN0d.

3. % | POSBONTCI0 TS PSS AB2S (HTrEre (BPSITER), PSRN0,
4. % r3STF0S ABBS HDOTBN DT O (PO ANT 0 (D230 TE.

Question Number : 139 Question Id : 441009249117 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
State minority commission are set up by?
Options :

1. # The President

2. % Parliament

3. ® Ministry of minority affairs

4.+ State Government

Question Number : 139 Question Id : 441009249117 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

73 DOES EAAS) IS DT°)EN T E?
Options :

1. % oolded

2. % OO

3. % 0r0e3 55955507 03¢ § T

4. ¢ o7 (D20 50

Question Number : 140 Question Id : 441009249118 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
37. How does regionalism affect tribal welfare policies in India?
Options :

1. ¥ Regionalism strengthens state-centric policies on tribal welfare.
2. % Regionalism reduces the influence of local leaders in tribal areas.
3. % Regionalism centralizes the administration of tribal welfare schemes.

4. % Regionalism has no impact on tribal welfare policies in India.

Question Number : 140 Question Id : 441009249118 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2rSEST30S” AB2S NOTF ) DT (BPOBONTCI0(B2BIOB0) e (D270
BROE?

Options :



1. ¢ [000FN0 AB23S H0Z.e00D T R-BoIBE9S DiTaredddd S 250 TROO.
2. % [ZPOBONITCI0 ABB ([BFoeeS TS PONFE (7)), SARNOA.

3. % 0023 DB I AE L5769 (030050 Tol BB,

4. % r3STF0S ABBS HDOTBeN DT O [FPOANTE (D270 TE.

Question Number : 141 Question Id : 441009249119 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
38. How does sub-regionalism in India affect tribal welfare?
Options :

1. ¥ It enhances the focus on local tribal needs within smaller regions.
2. % It weakens state support for tribal welfare.
3. # It encourages centralized policies for tribal areas.

4. % Tt ignores the specific issues of tribal communities.

Question Number : 141 Question Id : 441009249119 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2PSESTI0S &N 0300S(D5-6235O)280) NS ABBS NOTF.SF) e (D@50
DVOE?

Options :

1. ¥ 38 DX [BPosoS Ko QS AO23S e80T O CgaardNod

2. % 0 0823 HOZ.SE TR s T IIBNOL.
3. % 90 A8 (r05ed) 30|BEyeh DGO (e YO E.
4. % 98 80BN 3T° QB Do DB,

Question Number : 142 Question Id : 441009249121 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
39. The Sri Krishna Committee primarily focused on addressing which of the following issues?
Options :

1. # Tribal welfare and protection of weaker sections.
2. ¥ Formation of smaller states for better administration.
3. ® Strengthening the central government’s powers.

4. % Regional development of urban areas.

Question Number : 142 Question Id : 441009249121 Question Type : MCQ Negative Marks Display
Text : 0.33



Correct Marks : 1 Wrong Marks : 0.33

1B 92 33 D0 (80 ¢3S BAD C9nTE0D0E?
Options :

1. % 88235 NOF.o00 0BT OIS ST° S8 9.

2. ¢ 0BT DOFPONT D) Tl T IEN.
3. % B0 192085 ¢ 9OTT O 0 250 TONCO.
4. % HOED |FO0TO (030D @DIYR.

Question Number : 143 Question Id : 441009249122 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Central information commission has been constituted under which act?
Options :

1. # Information Technology act 2000

2. % Data protection Act 2023

3. ¥ Right to information act 2005

4. ¥ SARFAESI (Securitization and Reconstruction of Financial Assets and Enforcement of Security
Interest) Act, 2002

Question Number : 143 Question Id : 441009249122 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

B0(& D8T°8 AR & T30 80 DTN TANDR0E?
Options :

1. % 93)B20 B5°) @28 w580 2000

2. % Z@er H08E e &0 2023

3. ¢ Q3008 P80 98O 2005

4. % SARFAESI (8750 BBAS @086 83S(RE.S &2 DTV0NO @90& S0 )00
&9 V883 208Y) WO, 2002

Question Number : 144 Question Id : 441009249123 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

40. Which key recommendation was made by the Sri Krishna Committee regarding the issue of state
reorganization?

Options :
1. ¢ Division of Andhra Pradesh to form Telangana.
2. % Formation of a separate state for tribal welfare.

3. % Central government control over state policies.

4. % Strengthening regional parties' influence at the national level.



Question Number : 144 Question Id : 441009249123 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

7LD B $53EBE @030 (B £ E0¢3 TAS Er¥ DAY D32
Options :

1. ¥ 8OO DT°)ENS OSN3 DB,

2. % 3823 0T XA (DSBS TR0 DT)EN.

3. % 07 D0 ) S0(E (230e ¢ QOHO(hed
4. % 2230 FPaNS’ (0D T (Herar) 2 50 Ao

Question Number : 145 Question Id : 441009249134 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

45. Which of the following constitutional provisions is specifically designed to promote welfare for
Scheduled Castes in India?

Options :

1. % Article 15(4) — Special provisions for the advancement of socially and educationally backward
classes.

2. % Article 46 — Promotion of welfare of Scheduled Castes, Scheduled Tribes, and other weaker
sections.

3. ® Article 17 — Abolition of untouchability.

4. % Article 50 — Separation of judiciary from executive.

Question Number : 145 Question Id : 441009249134 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2rGEHTI0S BTES Soered DO (8 Yor0ITE (DSBS ErSrod0tsdGdS
0723700 Q220N D?
Options :

1. % O3B0 15(4) — A3 80T DB DTTEISOMT I NEDRN 5B e98)dy@D8
S8 58 D0 Sew.

2. ¢ 9OEGEE0 46 - ABTLD Zoeren, TGRSO Be) OO B o7 ST
HOB.8Q), (e )ar0tI0
3. % @Q8890 17 - ©0)935d QBTIOS
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Question Number : 146 Question Id : 441009249136 Question Type : MCQ Negative Marks Display
Text : 0.33



Correct Marks : 1 Wrong Marks : 0.33

46. Which of the following policy measures is primarily aimed at improving the educational and
economic status of Scheduled Castes (SCs) and Scheduled Tribes (STs) in India?

Options :

1. # Implementation of reservation in Parliament and State Assemblies.
2. ¥ Free education schemes and scholarships for SCs and STs.
3. # Abolition of untouchability and social discrimination through the Right to Equality.

4. # Establishment of special courts for the trial of crimes against SCs and STs.

Question Number : 146 Question Id : 441009249136 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2PSESTFOS 208D Foeren (SCEN) HOON T SN (STOD) DI SHOASH 3O
VB BHDBTICHR ©F SO 1B8OE DTS TIB5ES” D (DTTEIOT T OR0E?
Options :

1. % OO HBAM T°(R 50D’ B23B LA 9sren

2. ¥ D), VO &S I HATED LDOAN 7y OBADEN
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Question Number : 147 Question Id : 441009249139 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following best explains the purpose behind reservations for Scheduled Castes under the
Indian Constitution?

Options :

1. # To maintain their traditional occupations
2. % To provide them competitive advantage over others
3. ¥ To eliminate historical disadvantages and ensure equal opportunity

4. % To encourage emigration to urban areas

Question Number : 147 Question Id : 441009249139 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2Geh T°2SON0 (D530, 0TSO Z0ereE) 8238 £ I &) &R (8o ¢3S’
D X DIBNOE?

Options :



1. % 5°0 0NN X9 SRS 0
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Question Number : 148 Question Id : 441009249141 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What is the main objective of providing reservations for Scheduled Castes, Scheduled Tribes, and Other
Backward Classes under the Indian Constitution?

Options :

1. # To provide them free education abroad
2. ¥ To achieve social justice and equal opportunity
3. % To promote religious conversion

4. ¥ To limit their political participation

Question Number : 148 Question Id : 441009249141 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2°8¢% 0723500 (DFPB0 TS Soeren, 2RSS BEe DO @S S0EDRS
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Options :
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Question Number : 149 Question Id : 441009249142 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following correctly explains why reservations for Scheduled Castes and Scheduled
Tribes have been extended multiple times beyond the original constitutional period?

Options :
1. % Due to failure to achieve adequate representation
2. ® Due to political pressure from majority communities

3. # Due to changes in the structure of the judiciary

4. % To comply with international obligations



Question Number : 149 Question Id : 441009249142 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

20875 Boeren 8GN LD SBHEOEL 8238 LA 90eN TP 57erdE O
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Options :
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Question Number : 150 Question Id : 441009249144 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which Constitutional Amendment made it obligatory for States to provide reservation in promotions for
Scheduled Castes and Scheduled Tribes?

Options :

1. ¥ 77th Amendment Act, 1995
2. % 81st Amendment Act, 2000
3. % 85th Amendment Act, 2001
4. ¥ 93rd Amendment Act, 2005

Question Number : 150 Question Id : 441009249144 Question Type : MCQ Negative Marks Display
Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

655D Boeren DO CEFEO BHB HES) xS’ 8288 2D O yoiko
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Options :

1. ¥ 7725 Q389 T 0, 1995

2. % 81 0389 ©580, 2000

3. % 855 03829 K980, 2001

4. % 9355 0358 B0, 2005



